

# OFFICE OF THE EXECUTIVE ENGINEER DISTRICT MUNICIPAL CORPORATION SOUTH KARACHI

Address: - Nishter road near Gulzar-e-Ambya Masjid, Karachi Phone # 99211429-99211390 Fax # 99213061

No: EE/M&E/DMC/South/248/2017 Dated: 06 -12 -2017

The Director (ENF-I), SPPRA, Government of Sindh, Karachi.

Subject: NIT EE/M&E/DMC/South/ 001 /2017 Dated: 08 - 11 -2017 Open on 29-11-2017

Reference: - SPPRA Website Sr.No.35163

Enclosed please find herewith following documents of work # 01 to 18 regarding subjected NIT for uploading on SPPRA website.

- 1- Bid Evaluation Report.
- 2- Minutes of the meeting.
- 3- Bid Opening Sheet.

- Comparative Statement.

Eligibility/Qualification Report.

Contractor's Attendance Sheet.

i) Hard Copy & Soft Copy

EXECUTIVENGINEER (M&E) D.M.C (SOUTH)

EXECUTIVE ENGINEER M&E D.M.C. (South)



The Procurement Committee of District Municipal Corporation South, Karachi have been opened the tenders vide above NIT on 29-11-2017 at 02:30 pm in the office of the Superintending Engineer DMC South, situated at, KRS Captain road, Karachi, in the presence of bidders, detail of work is given as under:-

WORK NO. 01 Repair / Maintenance of Street Light System at Clifton area DMC (South).

Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s. Waheed & Sons	1.00 % below S/R Rs: 988529/-	1 <sup>st</sup>	P/O #. 03846380 Rs. 20,000/-	MEEZAN	No Over Writing / Cutting	Bidding process valid
2.	M/s. Al-Maqbool Associate .	0.88 % above S/R Rs: 989727/-	2 <sup>nd</sup>	P/O #. 15751255 Rs. 20,000/-	HBL	No Over Writing / Cutting	Bidding process valid
3.	M/s. Ovais & BilalEnterprises.	0.63 % above S/R Rs: 992223/-	3 <sup>rd</sup>	P/O #. 02238936 Rs. 20,000/-	SONERI	No Over Writing / Cutting	Bidding process valid

WORK NO. 02 Improvement /Repair / Maintenance of Street Light System at Old City area DMC (South)

Sr. #		Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s. Waheed & Sons .	0.99 % below S/R Rs: 988474/-	1 <sup>st</sup>	P/O #. 00551919 Rs. 20,000/-	SINDH	No Over Writing / Cutting	Bidding process valid
2.	M/s. S.S.K Ent.	0.82 % above S/R Rs: 990171/-	2 <sup>nd</sup>	P/O #. 00007032 Rs. 20,000/-	AL FALAH	No Over Writing / Cutting	Bidding process valid
3.	M/s. Huzaifa Ent.	0.69 % above S/R Rs: 991469/-	3 <sup>rd</sup>	P/O #. 18598752 Rs. 20,000/-	UBL	No Over Writing / Cutting	Bidding process valid

Shakil Mughal
Secretary Procurement Committee
Executive Engineer

Muhammad Nadeem

Member Procurement Committee
Assistant Executive Engineer
KW&SB, Karachi

A.RazzagueJunijo
Chairman Procurement
CommitteeSuperintending Engineer
DMC (South)



The Procurement Committee of District Municipal Corporation South, Karachi have been opened the tenders vide above NIT on 29-11-2017 at 02:30 pm in the office of the Superintending Engineer DMC South, situated at, KRS Captain road, Karachi, in the presence of bidders, detail of work is given as under:-

WORK NO. 03 Improvement /Repair / Maintenance of Street Light System at Burns road (Fresco R/A to Regal) & internal Street DMC (South)

Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s. S.M.Builders	1.10 % below S/R Rs: 987049/-	1 <sup>st</sup>	P/O # 02238934 Rs. 20,000/-	SONERI	No Over Writing / Cutting	Bidding process valid
2.	M/s. Al-Maqbool Associate .	0.88 % above S/R Rs: 989244/-	2 <sup>nd</sup>	P/O #. 06293812 Rs. 20,000/-	UBL	No Over Writing / Cutting	Bidding process valid
3.	M/s. New Spectrum Enterprises.	0.73 % above S/R Rs: 990741/-	3 <sup>rd</sup>	P/O #. 00007034 Rs. 20,000/-	AL FALAH	No Over Writing / Cutting	Bidding process valid

WORK NO. 04 Repair / Maintenance of Street Light System at Shara-e-Liaqat & internal street DMC (South)

Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s. S.M.Builders	1.50 % below S/R Rs: 984018/-	1 <sup>st</sup>	P/O #. 00509535 Rs. 20,000/-	SINDH	No Over Writing / Cutting	Bidding process valid
2.	M/s. Ovais & BilalEnterprises	0.93 % above S/R Rs: 989712/-	2 <sup>nd</sup>	P/O #. 13193382 Rs. 20,000/-	UBL	No Over Writing / Cutting	Bidding process valid
3.	M/s. Al-Maqbool Associate	0.78% above S/R Rs: 991211/-	3 <sup>rd</sup>	P/O #. 18598755 Rs. 20,000/-	HBL	No Over Writing / Cutting	Bidding process valid

Shakil Mughal
Secretary Procurement Committee
Executive Engineer

Muhammad Nadeem

Member Procurement Committee
Assistant Executive Engineer
KW&SB, Karachi

Chairman Procurement
Committee Superintending Engineer
DMC (South)



The Procurement Committee of District Municipal Corporation South, Karachi have been opened the tenders vide above NIT on 29-11-2017 at 02:30 pm in the office of the Superintending Engineer DMC South, situated at, KRS Captain road, Karachi, in the presence of bidders, detail of work is given as under:-

#### WORK NO. 05

Improvement / Repair/ Maintenance of Street Light System at Different Roads DMC South

Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s. Waheed & Sons	0.90 % below S/R Rs: 987031/-	1 <sup>st</sup>	P/O # 02238935 Rs. 20,000/-	SONERI	No Over Writing / Cutting	Bidding process valid
2.	M/s. Huzaifa Ent .	0.74 % above S/R Rs: 988625/-	2 <sup>nd</sup>	P/O #. 18598761 Rs. 20,000/-	HBL	No Over Writing / Cutting	Bidding process valid
3.	M/s. New Spectrum Enterprises.	0.59 % above S/R Rs: 990119/-	3 <sup>rd</sup>	P/O #. 00551999 Rs. 20,000/-	SINDH	No Over Writing / Cutting	Bidding process valid

#### WORK NO. 06

Improvement / Repair/ Maintenance of Street Light System at Preedy Street & Internal Street DMC South

Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s. S.M.Builders	1.00 % below S/R Rs: 987019/-	1 <sup>st</sup>	P/O #. 04427259 Rs. 20,000/-	AL HABIB LIMITED	No Over Writing / Cutting	Bidding process valid
2.	M/s. Ahmed Electrical Service	0.87 % above S/R Rs: 988315/-	2 <sup>nd</sup>	P/O #. 18598754 Rs. 20,000/-	HBL	No Over Writing / Cutting	Bidding process valid
3.	M/s. Al-Maqbool Associate	0.49% above S/R Rs: 992104/-	3 <sup>rd</sup>	P/O #. 13193383 Rs. 20,000/-	UBL	No Over Writing / Cutting	Bidding process valid

Shakil Mughal

Secretary Procurement Committee
Executive Engineer

Muhammad Nadeem

Member Procurement Committee
Assistant Executive Engineer
KW&SB, Karachi

A.Razzaque Junijo Chairman Procurement

Chairman Procurement
Committee Superintending Engineer

The Procurement Committee of District Municipal Corporation South, Karachi have been opened the tenders vide above NIT on 29-11-2017 at 02:30 pm in the office of the Superintending Engineer DMC South, situated at, KRS Captain road, Karachi, in the presence of bidders, detail of work is given as under:-

WORK NO. 07 Repair / Maintenance of Lighting System at Different Internal Streets Lyari & Sadder Zone DMC (South)

Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s S.M.Builders	1.10 % below S/R Rs: 987057/-	1 <sup>st</sup>	P/O # 03846381 Rs. 20,000/-	MEEZAN	No Over Writing / Cutting	Bidding process valid
2.	M/s. Huzaifa Ent .	0.86 % above S/R Rs: 989452/-	2 <sup>nd</sup>	P/O #. 18598757 Rs. 20,000/-	HBL	No Over Writing / Cutting	Bidding process valid
3.	M/s. New Spectrum Enterprises.	0.64 % above S/R Rs: 991648/-	3 <sup>rd</sup>	P/O #. 00007036 Rs. 20,000/-	AL FALAH	No Over Writing / Cutting	Bidding process valid

# WORK NO. 08 Improvement of Lighting System at the area of U.C-11 DMC South

Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s New Spectrum Enterprises.	0.89 % below S/R 895517 Open Rate 96060 991577	1 <sup>st</sup>	P/O #. 00007030 Rs. 20,000/-	HBL	No Over Writing / Cutting	Bidding process valid
2.	M/s. S.S.K Ent	0.66 % below S/R 897596 Open Rate 97020 994616	2 <sup>nd</sup>	P/O #. 18598751 Rs. 20,000/-	HBL	No Over Writing / Cutting	Bidding process valid
3.	M/s.Waheed & Sons	0.43 % below S/R 899674 Open Rate 997354 997354	3 <sup>rd</sup>	P/O #. 00007038 Rs. 20,000/-	HBL	No Over Writing / Cutting	Bidding process valid

Shakil Mughal
Secretary Procurement Committee
Executive Engineer

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer
KW&SB, Karachi

A.RazzaqueJunijo Chairman Procurement Committee Superintending Engineer DMC (South)



The Procurement Committee of District Municipal Corporation South, Karachi have been opened the tenders vide above NIT on 29-11-2017 at 02:30 pm in the office of the Superintending Engineer DMC South, situated at, KRS Captain road, Karachi, in the presence of bidders, detail of work is given as under:-

# WORK NO. 09 Improvement of Lighting System at Baghdadi Saifi Lane U.C-07 DMC South

Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s. New Spectrum Enterprises.	0.85 % below S/R 910690 Open Rate 80575 991265	1 <sup>st</sup>	P/O # 00551995 Rs. 20,000/-	SINDH	No Over Writing / Cutting	Bidding process valid
2.	M/s. Al-Maqbool Associate	0.67 % below S/R 912343 Open Rate 81400 993743	2 <sup>nd</sup>	P/O #. 18598750 Rs. 20,000/-	HBL	No Over Writing / Cutting	Bidding process valid
3.	M/s. S.M.Builders.	0.48 % below S/R 914088 Open Rate 82225 996313	3 <sup>rd</sup>	P/O #. 00007035 Rs. 20,000/-	AL FALAH	No Over Writing / Cutting	Bidding process valid

# Repair/Maintenance of street light system at Kharadar area, Jodia bazaar & internal street of DMC South WORK NO. 10

Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s Ovais & BilalEnterprises	1.50 % below S/R Rs: 984992/-	1 <sup>st</sup>	P/O #. 04427260 Rs. 20,000/-	AL HABIB	No Over Writing / Cutting	Bidding process valid
2.	M/s. Huzaifa Ent .	0.89 % above S/R Rs: 991092/-	2 <sup>nd</sup>	P/O #. 18598756 Rs. 20,000/-	UBL	No Over Writing / Cutting	Bidding process valid
3.	M/s. S.S.K Ent	0.63 % above S/R Rs: 993692/-	3 <sup>rd</sup>	P/O #. 06293809 Rs. 20,000/-	HBL	No Over Writing / Cutting	Bidding process valid

Shakil Mughal
Secretary Procurement Committee
Executive Engineer

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer KW&SB, Karachi Chairman Procurement
Committee Superintending Engineer
DMC (South)



The Procurement Committee of District Municipal Corporation South, Karachi have been opened the tenders vide above NIT on 29-11-2017 at 02:30 pm in the office of the Superintending Engineer DMC South, situated at, KRS Captain road, Karachi, in the presence of bidders, detail of work is given as under:-

# WORK NO. 11 Repair/Maintenance of street light system at sadder & Burns Road area & internal street of DMC South

Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s. Ovais & BilalEnterprises	1.60 % below S/R Rs: 983921/-	1 <sup>st</sup>	P/O # 00007031 Rs. 20,000/-	AL FALAH	No Over Writing / Cutting	Bidding process valid
2.	M/s Waheed & Sons	0.92 % above S/R Rs: 990721/-	2 <sup>nd</sup>	P/O #. 13193379 Rs. 20,000/-	UBL	No Over Writing / Cutting	Bidding process valid
3.	M/s. Ahmed Electrical Service	0.77 % above S/R Rs: 992221/-	3 <sup>rd</sup>	P/O #. 15751257 Rs. 20,000/-	HBL	No Over Writing / Cutting	Bidding process valid

# WORK NO. 12 Maintenance of street light system at Ranchor Line area & internal street of DMC South

Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s. Waheed & Sons	1.70 % below S/R Rs: 982992/-	1 <sup>st</sup>	P/O #. 13193380 Rs. 20,000/-	UBL	No Over Writing / Cutting	Bidding process valid
2.	M/s New Spectrum Enterprises	0.90 % above S/R Rs: 990992/-	2 <sup>nd</sup>	P/O #. 00007039 Rs. 20,000/-	AL FALAH	No Over Writing / Cutting	Bidding process valid
3.	M/s Ovais & Bilal Enterprises ↓	0.68 % above S/R Rs: 993192/-	3 <sup>rd</sup>	P/O #. 1859876 Rs. 20,000/-	UBL	No Over Writing / Cutting	Bidding process valid

Shakil Mughal
Secretary Procurement Committee

Executive Engineer

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer KW&SB, Karachi A.RazzaqueJunijo Chairman Procurement Committee Superintending Engineer DMC (South)

The Procurement Committee of District Municipal Corporation South, Karachi have been opened the tenders vide above NIT on 29-11-2017 at 02:30 pm in the office of the Superintending Engineer DMC South, situated at, KRS Captain road, Karachi, in the presence of bidders, detail of work is given as under:-

# WORK NO. 13 Maintenance of street light system at Internal area of DMC South

Sr. #	Name of Firm or Bidder	Cost offered by the bidder Ranking in terms of cost		Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks	
1.	M/s. Ovais & BilalEnterprises	1.00 % below S/R Rs: 989618/-	1 <sup>st</sup>	P/O # 13193381 Rs. 20,000/-	UBL	No Over Writing / Cutting	Bidding process valid	
2.	M/s. S.S.K Ent.	0.86 % above S/R Rs: 991017/-	2 <sup>nd</sup>	P/O #. 00551997 Rs. 20,000/-	SINDH	No Over Writing / Cutting	Bidding process valid	
3.	M/s. Huzaifa Ent.	0.65 % above S/R Rs: 993117/-	3 <sup>rd</sup>	P/O #. 18598759 Rs. 20,000/-	HBL	No Over Writing / Cutting	Bidding process valid	

# WORK NO. 14 Repair/Maintenance of street light system at City area of DMC South

Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s. Ovais & BilalEnterprises	1.20% below S/R Rs: 987821/-	1 <sup>st</sup>	P/O #. 00552018 Rs. 20,000/-	Sinfh	No Over Writing / Cutting	Bidding process valid
2.	M/s. Al-Maqbool Associate	0.88% above S/R Rs: 991021/-	2 <sup>nd</sup>	P/O #. 18598758 Rs. 20,000/-	HBL	No Over Writing / Cutting	Bidding process valid
3.	M/s. Ahmed Electrical Service	0.70 % above S/R Rs: 992820/-	3 <sup>rd</sup>	P/O #. 06293810 Rs. 20,000/-	UBL	No Over Writing / Cutting	Bidding process valid

Shakil Mughal
Secretary Procurement Committee

Executive Engineer

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer
KW&SB, Karachi

Chairman Procurement
Committee Superintending Engineer
DMC (South)



The Procurement Committee of District Municipal Corporation South, Karachi have been opened the tenders vide above NIT on 29-11-2017 at 02:30 pm in the office of the Superintending Engineer DMC South, situated at, KRS Captain road, Karachi, in the presence of bidders, detail of work is given as under:-

### WORK NO. 15 Repair/Maintenance of building light system at different School of Saddar Division DMC South

Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s. New Spectrum Enterprises.	0.89 % below S/R 495549 Open Rate 500315 995864	1 <sup>st</sup>	P/O # 15751256 Rs. 20,000/-	UBL	No Over Writing / Cutting	Bidding process valid
2.	M/s. Waheed & Sons	0.67 % below S/R 496649 Open Rate 502230 998879	2 <sup>nd</sup>	P/O #. 18598753 Rs. 20,000/-	HBL	No Over Writing / Cutting	Bidding process valid
3.	M/s. Huzaifa Ent.	0.42 % below S/R 497899 Open Rate 501970 999869	3 <sup>rd</sup>	P/O #. 00551998 Rs. 20,000/-	SINDH	No Over Writing / Cutting	Bidding process valid

#### Improvement/Arrangement of Lighting System at 12, Rabiulawal 2017 of DMC(South)

WORK NO. 16

Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s S.M. Builders	s S.M. Builders 1.00 % below S/R Rs: 989518/-		P/O #. 18598748 Rs. 20,000/-	HBL	No Over Writing / Cutting	Bidding process valid
2.	M/s. S.S.K Ent.	0.82 % above S/R Rs: 991317/-	2 <sup>nd</sup>	P/O #. 00551996 Rs. 20,000/-	SINDH	No Over Writing / Cutting	Bidding process valid
3.	M/s Ovais & BilalEnterprises	0.58 % above S/R Rs: 993716/-	3 <sup>rd</sup>	P/O #. 18598749 Rs. 20,000/-	HBL	No Over Writing / Cutting	Bidding process valid

Shakil Waghal V
Secretary Procurement Committee
Executive Engineer

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer
KW&SB, Karachi

A.Raz aqueJunio
Chairman Procurement
Committee Superintending Engineer
DMC (South)



The Procurement Committee of District Municipal Corporation South, Karachi have been opened the tenders vide above NIT on 29-11-2017 at 02:30 pm in the office of the Superintending Engineer DMC South, situated at, KRS Captain road, Karachi, in the presence of bidders, detail of work is given as under:-

# WORK NO. 17 Repair/Maintenance of Electric Work at Lyari Division DMC South

Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s. Waheed & Sons. 1.10 % below S/I 908305 Open Rate 8131 989615		1 <sup>st</sup>	P/O # 18598747 Rs. 20,000/-	HBL	No Over Writing / Cutting	Bidding process valid
2.	M/s Ahmed Electrical Service	0.72 % below S/R 911794 Open Rate 82170 993964	2 <sup>nd</sup>	P/O #. 06293811 Rs. 20,000/-	UBL	No Over Writing / Cutting	Bidding process valid
3.	M/s. Al-Maqbool Associate	0.39 % below S/R 914825 Open Rate 83396 998221	3 <sup>rd</sup>	P/O #. 00007037 Rs. 20,000/-	AL FALAH	No Over Writing / Cutting	Bidding process valid

# WORK NO. 18 Improvement/Up-gradation of Electric Panel System at Main Office DMC South

Sr. #	Name of Firm or Bidder	Cost offered by the bidder	Ranking in terms of cost	Pay order number and amount of earnest money	Name of Bank	Over writing	Remarks
1.	M/s. New Spectrum Enterprises	Rs: 996700/-	1 <sup>st</sup>	P/O #. 15751254 Rs. 20,000/-	UBL	No Over Writing / Cutting	Bidding process valid
2.	M/s. Huzaifa Ent .	Rs: 998261/-	2 <sup>nd</sup>	P/O #. 00007033 Rs. 20,000/-	AL FALAH	No Over Writing / Cutting	Bidding process valid
3.	M/s. S.S.K Enterprises	Rs: 999296/-	3 <sup>rd</sup>	P/O #. 10154170 Rs. 20,000/-	HABIB METROPOLITON	No Over Writing / Cutting	Bidding process valid

Shakil Mughal
Secretary Procurement Committee
Executive Engineer

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer
KW&SB, Karachi

A.RaztraqueJunio
Chairman Procurement
Committee Superintending Engineer
DMC (South)

# ATTENDANCE SHEET

#### NO: EE/M&E/DMC/SOUTH/01/2017 DATED 08-11-2017

Bid Opening Date. 29–11–2017

SPPRA SR. # 35163

Sr.#	NAME OF FIRM/CONTRACTOR	SIGNATURE
	Me New Speed on Eng	,
2	Ms watered & soms	A. mej oe e
3	Me ovais & Bibal and	
	H/s S.M. Builders	8 mil
5	m/s S.S.le Enterp.	mun
	M/s Al. Maybord Associates	437
	M. Augusta Entel	Jam
8	H/s Afmed Olesforical Sco.	Amm

EXECUTIVE ENGINEER M&E D.M.C. (Couth)

July

SUPERINTENDING ENG.

# OFFICE OF THE SUPERINTENDING ENGINEER / CHAIRMANM PROCUREMENT COMMITTEE, DMC (SOUTH), KARACHI

MINUTES OF THE MEETING OF PROCUREMENT COMMITTEE, DMC SOUTH KARACHI REGARDING OPENING OF THE/BIDS PERAINING TO DISTRICT SOUTH.

#### AGENDA

Opening of the tenders / bids vide NIT NO: EE/M&E / DMC / South / 01 / 2017 Dated-08-11-2017. Which opened on 29-11-2017?

A meeting of procurement committee, District Municipal Corporation (South) Karachi held on 29-11-2017 at the office of Superintending Engineer, DMC (South), situated at KRS Captain road Karachi, regarding opening of the aforesaid Tender / Bids vide NIT NO.EE/M&E/DMC/South/01/2017 Dated:-08-11-2017. The following participates attended the meeting:-

04. Superintending Engineer, DMC (South)

05. Executive Engineer DMC (South)

06. Assistant Executive engineer KW & SB

Chairman

Member

Member

#### PROCEEDING

Opening commenced in the Name of Allah, after that Procurement committee, of DMC South Karachi, initiated proceeding in presence of bidders.

DMC (South), commenced the proceed of opening the tenders / bids in the Presence of all bidders.

- v. The seal of tender box removed and all tenders / bids have been counted in the presence of the contractors on 29-11-2017 at 02:30 PM
- vi. The Procurement Committee opened the tenders one by one and the relevant details i.e, the name of work, name of bidder, total amount of each bid offered / quoted by the contractor etc and all members of procurement committee signed each and every page of financial proposal and amount of call deposit / pay order of earnest money after that all the members of procurement committee signed the bid opening sheet after completing the bidding process (Bid opening sheet placed below)
- vii. All contractors / bidders have signed on the attendance sheet (copy placed below).
- viii The committee examines all the bids as per qualification eligibility criteria provided in the bidding documents, the documents checked arithmetically one by one and bid security in shape of pay order submitted by the bidders was found in order.

The meeting ended with the vote of thanks to from the chair.

Shakil Mughal

Secretary Procurement Committee

Executive Engineer

DMC (South)

Muhammad Nadeem

Member **Procurement** Committee Assistant Executive Engineer

KW&SB, Karachi

A.Razzaque Juneio
Chairman Procurement Committ
Superintending Engineer

1.	Name of Procuring Agency: District Municipal Corporation South, Karachi
2.	Tender Reference No: NIT No:EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017 (work at Sr.No: (01)
3.	Tender Description / Name of Work/item: Repair / Maintenance of Street Light System at Clifton area DMC
4.	Method of Procurement: SINGLE STAGE – ONE ENVELOPE PROCEDURE
5.	Tender Published: SPPRA Website( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163
6.	Total Bid Documents Sold: 03 Nos.
7.	Total Bids Received: 03 Nos.
8.	Technical Bid Opening Date (if applicable) Not Applicable
9.	No. of Bid technically qualified (if applicable): Not Applicable
10.	Bids Rejected: Nil

29-11-2017

12.	Bid	Eva	luation	Report:

11. Financial Bid Opening Date:

S.No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost		parison with imated cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3		4	5	6
1.	M/s. Waheed & Sons.	1.00 % below S/R Rs: 988529/-	1 <sup>st</sup>	9	, 98,514/-	Bid accepted due to lowest & in order	Bidding process valid
.2.	M/s. Al-Maqbool Associates .	0.88 % below S/R Rs: 989727/-	2 <sup>nd</sup>	9	, 98,514/	Bid accepted due to lowest & in order	Bidding process valid
3.	M/s. Ovais & Bilal Ent.	0.63 % below S/R Rs: 992223/-	3 <sup>rd</sup>	9	, 98,514/	Bid accepted due to lowest & in order	Bidding process valid

M/s. Waheed & Sons .lowest as a successful Bidder.

Shakil Mughal Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer
KW&SB, Karachi

A.RazzaqueJukijo
Chairman Procurement Committee
Superintending Engineer

# PROCUREMENT COMMITTEE DISTRICT MUNICIPAL CORPORATION SOUTH, KARACHI



SR. # 1

#### **COMPARATIVE STATEMENT**

Name of work: - Repair / Maintenance of Street Light System at Clifton area DMC (South)

SR.#	DESCRIPTION		ENGINE	ER ESTIMATE		M/s. Waheed & Sons		M/s. Al-Maqbe	ool Associate	M/s. Ovais & BilalEnterprises	
SK.#	DESCRIPTION	QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029	2250	P/Mtr	69.00	155250.00	69.00	155250.00	69.00	155250.00	69.00	155250.00
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029.	360	P/Mtr	118.00	42480.00	118.00	42480.00	118.00	42480.00	118.00	42480.00
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.036 4mm2	180	P/Mtr	147.00	26460.00	147.00	26460.00	147.00	26460.00	147.00	26460.00
4	P/F one way SP 10/15 amp switch as req.	100	Each	58.00	5800.00	58.00	5800.00	58.00	5800.00	58.00	5800.00
5	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El.	34	Each	423.00	14382.00	423.00	14382.00	423.00	14382.00	423.00	14382.00
6	Providing & fixing 250 watts (SON-T) Lame @ the height as per site requirement & instruction of El	120	Each	2105.00	252600.00	2105.00	252600.00	2105.00	252600.00	2105.00	252600.00
7	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of El.	95	Each	3990.00	379050.00	3990.00	379050.00	3990.00	379050.00	3990.00	379050.00
8	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the		Each							==	Œ
	help of hydraulic crane & manual labor as per site requirement and instruction of El	100		1119.00	111900.00	1119.00	111900.00	1119.00	111900.00	1119.00	111900.00
9	Providing & fixing acrylic cover for 250 watts light @ as per site	16	Each	662.00	10592.00	662.00	10592.00	662.00	10592.00	662.00	10592.00
	requirement & instruction of El.		Total of Sc	hedule Items	9,98,514/-	002.00	9,98,514/-	002.00	9,98,514/-	002.00	9,98,514/-
			Total of 30	nedule items	3,30,314/-	1.00 % Below	9985	0.83 % Below	8787	0.63% Below	6291
					<u> </u>	Total Amount of 1 <sup>st</sup> Bidder	988529	Total Amount of 2 <sup>nd</sup> Bidder	989727	Total Amount of <sup>3rd</sup> Bidder	992223

Shakil Mughal

Secretary Procurement Committee Executive Engineer

DMC (South)

Muhammad Nadeem

Member Procurement Committee
Assistant Executive Engineer
KW&SB, Karachi

A. Razzak Junejo Chairman Procurement Committee Superintending Engineer DMC (South)

#### Bidder's Eligibility/Qualification Report

NIT No: EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017

Tender published: -

SPPRA Website ( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163

Method of Procurement:

Single Stage - One Envelope Procedure

Work #. 01

Description of Work:

Repair / Maintenance of Street Light System at Clifton area DMC (South)

Name of Bidder:

M/s. Waheed & Sons(1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr.#	Eligibility/Qualification Criteria	M/s. Waheed & Sons	M/s. Al-Maqbool Associate	M/s. Ovais & Bilal Enterprises	
1.	Electric license for electric work	Available	Available	Available	
2.	NTN Certificate	Available	Available	Available	
3.	Pay Order of Bid Security	Available	Available	Available	
4.	Profession Tax Certificate	Available	Available	Available	
5.	Certificate Sindh Revenue Board	Available	Available	Available	
6.	Minimum 03 Years' Experience of relevant field	Available	Available	Available	
7.	Turnover at last 03 Years	Available, above than Estimate coast	Available, above than Estimate coast	Available, above than Estimate coast	
8.	Rate must be quoted in Figure & Words	Yes	Yes	Yes	
9.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization Letter	Yes	Yes	Yes	
10.	Bid must be submitted in sealed cover	Yes	Yes	Yes	
Qualif	ied / Disqualified	Qualified	Qualified	Qualified	

Shakil Mughal Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer
KW&SB, Karachi

A.RazzasueJunije Chairman Procurement Committee Superintending Engineer DMC (South)

1.	Name of Procuring Agency: District Municipal Corporation South, Karachi
2.	Tender Reference No: NIT No:EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017 (work at Sr.No: (02)
3.	Tender Description / Name of Work/item: Improvement /Repair / Maintenance of Street Light System at Old City Area DMC South
4.	Method of Procurement: SINGLE STAGE – ONE ENVELOPE PROCEDURE
5.	Tender Published: SPPRA Website( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163
6.	Total Bid Documents Sold: 03 Nos.
7.	Total Bids Received: 03 Nos.
8.	Technical Bid Opening Date (if applicable) Not Applicable
9.	No. of Bid technically qualified (if applicable): Not Applicable
10.	Bids Rejected: Nil
	Financial Bid Opening Date: 29-11-2017

12.	Bid	Eva	luat	ion	Re	por	t:
						•	

S.No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost		parison with mated cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3		4	5	6
1.	M/s. Waheed & Sons.	0.99 % below S/R Rs: 988474/-	1 <sup>st</sup>	9,	98,358/-	Bid accepted due to lowest & in order	Bidding process valid
2.	M/s. S . S .K Enterprises .	0.82 % below S/R Rs: 990171/-	2 <sup>nd</sup>	9,	98,358/	Bid accepted due to lowest & in order	Bidding process valid
3.	M/s. Huzaifa Ent.	0.69 % below S/R Rs: 991469/-	3 <sup>rd</sup>	9,	98,358/	Bid accepted due to lowest & in order	Bidding process valid

M/s. Waheed & Sons .lowest as a successful Bidder.

Shaki Mughal

Secretary Procurement Committee Executive Engineer

DMC (South)

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer

KW&SB, Karachi

A.RazzaqueJanije Chairman Procurement Committee Superintending Engineer

#### PROCUREMENT COMMITTEE DISTRICT MUNICIPAL CORPORATION SOUTH, KARACHI



#### **COMPARATIVE STATEMENT**

Name of work:- Improvement /Repair / Maintenance of Street Light System at Old City area DMC (South)

SR.#	DESCRIPTION		ENGINE	ER ESTIMATE		M/s. Waheed	& Sons	M/s. S.S.K En	t.	M/s. Huzaifa Ent	erprises
CONTROL OF THE PARTY OF THE PAR		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029	2160	P/Mtr	69.00	149040.00	69.00	149040.00	69.00	149040.00	69.00	149040.00
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029.	540	P/Mtr	118.00	63720.00	118.00	63720.00	118.00	63720.00	118.00	63720.00
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.036 4mm2	360	P/Mtr	147.00	52920.00	147.00	52920.00	147.00	52920.00	147.00	52920.00
4	P/F one way SP 10/15 amp switch as req.	44	Each	58.00	2552.00	58.00	2552.00	58.00	2552.00	58.00	2552.00
5	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El.	36	Each	423.00	15228.00	423.00	15228.00	423.00	15228.00	423.00	15228.00
6	Providing & fixing 250 watts (SON-T) Lame @ the height as per site requirement & instruction of El	98	Each	2105.00	206290.00	2105.00	206290.00	2105.00	206290.00	2105.00	206290.00
7	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of El.	97	Each	3990.00	387030.00	3990.00	387030.00	3990.00	387030.00	3990.00	387030.00
8	Providing & fixing 250 watts (SON) ignitor in all respect at		Each			3333,33					
	the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of El	98		1119.00	109662.00	1119.00	109662.00	1119.00	109662.00	1119.00	109662.00
9	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of El.	18	Each	662.00	11916.00	662.00	11916.00	662.00	11916.00	662.00	11916.00
			Total of Sci	hedule Items	998358/-		998358/-		998358/-		998358/
						0.99 % Below	9984	0.82 % Below	8187	0.69% Below	6889
	<u> </u>					Total Amount of 1 <sup>st</sup> Bidder	988474	Total Amount of 2 <sup>nd</sup> Bidder	990171	Total Amount of 3rd Bidder	991469

Shakil Mugha Secretary Procurement Committee
Executive Engineer
DMC (South)

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer KW&SB, Karachi

Chairman Procurement Committee Superintending Engineer DMC (South)

# Bidder's Eligibility/Qualification Report

NIT No: EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017

Tender published: -

SPPRA Website ( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163

Method of Procurement:

Single Stage - One Envelope Procedure

Work #. 02

Description of

Work:

Improvement /Repair / Maintenance of Street Light System at Old City area DMC

(South)

Name of Bidder:

M/s. Waheed & Sons(1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s. Waheed & Sons	M/s. S.S.K Ent.	M/s. Huzaifa Enterprises
1.	Electric license for electric work	Available	Available	Available
2.	NTN Certificate	N Certificate Available Available		Available
3.	Pay Order of Bid Security	Available	Available	Available
4.	Profession Tax Certificate	Available	Available	Available
5.	Certificate Sindh Revenue Board	Available		Available
6.	Minimum 03 Years' Experience of relevant field	Available	Available	Available
7.	Turnover at last 03 Years	Turnover at last 03 Years  Available, above than Estimate coast  Available		Available, above than Estimate coast
8.	Rate must be quoted in Figure & Words	Yes	Yes	Yes
9.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization Letter	is signed, named and nped by the authorized son of the firm along with		Yes
10.	Bid must be submitted in sealed cover	Yes	Yes	Yes
Qualifi	ied / Disqualified	Qualified	Qualified	Qualified

Shakil Mughal Secretary Procurement Committee Executive Engineer DMC (South)

Muhammad Nadeem
Member **Procurement** Committee
Assistant Executive Engineer
KW&SB, Karachi

A.RazzaqueJunijo
Chairman Procurement Committee
Superintending Engineer
DMC (South)

1.	Name of Procuring Agency: District Munici	ipal Corporation	on South, Karachi
2.	Tender Reference No: NIT No:EE/M&E/DM	IC/South/ 001 /2	2017dt: 08-11-2017 (work at Sr.No: (03)
3	Tender Description / Name of Work/iter	system at	ent /Repair / Maintenance of street light Burns road (Fresco R/A to Regal) & eet DMC (South)
4.	Method of Procurement: SINGLE STA	GE – ONE EN	VELOPE PROCEDURE
5.	Tender Published: SPPRA Website( www.ppr	asindh.gov.pk)	SPPRA Sr. No: 35163
6.	Total Bid Documents Sold:	03 Nos.	
7.	Total Bids Received:	03 Nos.	4
8.	Technical Bid Opening Date (if applicable)	Not Applicab	le
9.	No. of Bid technically qualified (if applicable):	Not Applicable	9
10.	Bids Rejected:	Nil	
11.	Financial Bid Opening Date:	29-11-2017	
12.	Bid Evaluation Report:		

S.No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost	Com	parison with mated cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3		4	5	6
1.	M/s. S . M Builders.	1.100 % below S/R Rs: 987049/-	1 <sup>st</sup>	9,	98,027/-	Bid accepted due to lowest & in order	Bidding process valid
2.	M/s. Ahmed Electrical Services .	0.88 % below S/R Rs: 989244/-	2 <sup>nd</sup>	9,	98,027/	Bid accepted due to lowest & in order	Bidding process valid
3.	M/s. New Spectrum Ent.	0.73 % below S/R Rs: 990741/-	3 <sup>rd</sup>	9,	98,027/	Bid accepted due to lowest & in order	Bidding process valid

M/s. S .M Builders .lowest as a successful Bidder.

Shaki Mughal Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer KW&SB, Karachi

A.RazzaqueJunijo Chairman Procurement Committee Superintending Engineer DMC (South)

# PROCUREMENT COMMITTEE DISTRICT MUNICIPAL CORPORATION SOUTH, KARACHI



#### **COMPARATIVE STATEMENT**

Name of work:- Improvement /Repair / Maintenance of Street Light System at Burns road (Fresco R/A to Regal) & internal Street DMC (South)

SR.#	DESCRIPTION		ENGINE	ER ESTIMATE		M/s. S.M. Bui	lders	M/s. Ahmed E Service	Electrical	M/s. New Spectrum IEnterprises	
		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029	2430	P/Mtr	69.00	167670.00	69.00	167670.00	69.00	167670.00	69.00	167670.00
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029.	450	P/Mtr	118.00	53100.00	118.00	53100.00	118.00	53100.00	118.00	53100.00
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.036 4mm2	360	P/Mtr	147.00	52920.00	147.00	52920.00	147.00	52920.00	147.00	52920.00
4	P/F one way SP 10/15 amp switch as req.	74	Each	58.00	4292.00	58.00	4292.00	58.00	4292.00	58.00	4292.00
5	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El.	36	Each	423.00	15228.00	423.00	15228.00	423.00	15228.00	423.00	15228.00
6	Providing & fixing 250 watts (SON-T) Lame @ the height as per site requirement & instruction of El	99	Each	2105.00	208395.00	2105.00	208395.00	2105.00	208395.00	2105.00	208395.00
7	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of El.	96	Each	3990.00	383040.00	3990.00	383040.00	3990.00	383040.00	3990.00	383040.00
8	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of	96	Each								
9	El Providing & fixing acrylic cover for 250 watts light @ as per site	9	Each	1119.00	107424.00	1119.00	107424.00	1119.00	107424.00	1119.00	107424.00
	requirement & instruction of El.		Total of Co	662.00 hedule Items	5958.00 998027/-	662.00	5958.00 998027/-	662.00	5958.00 998027/-	662.00	5958.00 998027/-
	X		TOTAL OF SC	nedule items	9900277-	1.10 % Below	10978	0.88 % Below	8783	0.73% Below	7286
	A		11.			Total Amount of 1 <sup>st</sup> Bidder	987049	Total Amount of 2 <sup>nd</sup> Bidder	989244	Total Amount of <sup>3rd</sup> Bidder	990741

Secretary Procurement Committee
Executive Engineer

ecutive Enginee DMC (South)

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer KW&SB, Karachi

A. Razzak Juneje Chairman Procurement Committee Superintending Engineer DMC (South)

#### Bidder's Eligibility/Qualification Report

NIT No: EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017

Tender published: -

SPPRA Website ( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163

Method of Procurement:

Single Stage - One Envelope Procedure

Work #. 03

Description of

Work:

Improvement /Repair / Maintenance of Street Light System at Burns road (Fresco R/A

to Regal) & internal Street DMC (South)

Name of Bidder:

M/s. S.M Builders(1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s. S.M Builders	M/s. Ahmed Electrical Servise	M/s. New SpectrumEnterprises
1.	Electric license for electric work	Available	Available	Available
2.	NTN Certificate	Available	Available	Available
3.	Pay Order of Bid Security	Available	Available	Available
4.	Profession Tax Certificate	Available	Available	Available
5.	Certificate Sindh Revenue Board	Available	Available	Available
6.	Minimum 03 Years' Experience of relevant field	Available	Available	Available
7.	Turnover at last 03 Years	Available, above than Estimate coast	Available, above than Estimate coast	Available, above than Estimate coast
8.	Rate must be quoted in Figure & Words	Yes	Yes	Yes
9.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization Letter	Yes	Yes	Yes
10.	Bid must be submitted in sealed cover	Yes	Yes	Yes
Qualifi	ied / Disqualified	Qualified	Qualified	Qualified

Shakil Mughal Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer KW&SB, Karachi

A.Razzaque Junije Chairman Procurement Committee Superintending Engineer

- Name of Procuring Agency: <u>District Municipal Corporation South, Karachi</u>
- 2. Tender Reference No: NIT No:EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017 (work at Sr.No: (04)
- 3. Tender Description / Name of Work/item: Repair/Maintenance of street light system at shara-e-liaqat & internal street DMC South
- 4. Method of Procurement: SINGLE STAGE ONE ENVELOPE PROCEDURE

  5. Tender Published: SPPRA Website( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163

  6. Total Bid Documents Sold: 03 Nos.
- 7. Total Bids Received: 03 Nos.
- Technical Bid Opening Date (if applicable) Not Applicable

   No. of Bid technically qualified (if applicable): Not Applicable
- 10. Bids Rejected: Nil
- 11. Financial Bid Opening Date: 29-11-2017
- 12. Bid Evaluation Report:

S.No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost	7	parison with mated cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3		4	5	6
1.	M/sS.M. Builders	1.5 % below S/R Rs: 984018/-	1 <sup>st</sup>	9,	99, 003/-	Bid accepted due to lowest & in order	Bidding process valid
2.	M/s. Ovais & Bilal Enterprises.	0.93 % below S/R Rs: 989712/-	2 <sup>nd</sup>	9,	99, 003/-	Bid accepted due to lowest & in order	Bidding process valid
3.	M/s. Al-Maqbool Associates.	0.78 % below S/R Rs: 991211/-	3 <sup>rd</sup>	9,	99, 003/-	Bid accepted due to lowest & in order	Bidding process valid

M/s. S.M. Builders. Lowest as a successful Bidder.

Shakil Mughal

Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem
Member Procurement Committee

Assistant Executive Engineer KW&SB , Karachi

A.RazzaqueJunejo
Chairman Procurement Committee
Superintending Engineer

# PROCUREMENT COMMITTEE DISTRICT MUNICIPAL CORPORATION SOUTH, KARACHI



#### **COMPARATIVE STATEMENT**

Name of work:- Repair / Maintenance of Street Light System at Shara-e-Liaqat & internal street DMC (South)

SR.#	DESCRIPTION		ENGINE	ER ESTIMATE		M/s. S.M. Bui	lders	M/s. Ovais &	Bilal Ent.	M/s. Al-Maqbool Associate	
		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029	2340	P/Mtr	69.00	161460.00	69.00	161460.00	69.00	161460.00	69.00	161460.00
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029.	540	P/Mtr	118.00	63720.00	118.00	63720.00	118.00	63720.00	118.00	63720.00
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.036 4mm2	180	P/Mtr	147.00	26460.00	147.00	26460.00	147.00	26460.00	147.00	26460.00
4	P/F one way SP 10/15 amp switch as req.	63	Each	58.00	3654.00	58.00	3654.00	58.00	3654.00	58.00	3654.00
5	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of EI.	30	Each	423.00	12690.00	423.00	12690.00	423.00	12690.00	423.00	12690.00
6	Providing & fixing 250 watts (SON-T) Lame @ the height as per site requirement & instruction of El	110	Each	2105.00	231550.00	2105.00	231550.00	2105.00	231550.00	2105.00	231550.00
7	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of El.	98	Each	3990.00	391020.00	3990.00	391020.00	3990.00	391020.00	3990.00	391020.00
8	Providing & fixing 250 watts (SON) ignitor in all respect at		Each							5550105	
	the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of El	91		1119.00	101829.00	1119.00	101829.00	1119.00	101829.00	1119.00	101829.00
9	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of El.	10	Each	662.00	6620.00	662.00	6620.00	662.00	6620.00	662.00	6620.00
	1		Total of Sc	hedule Items	999003/-	002.00	999003/-	002.00	999003/-	002.00	999003/-
					000001	1.50 % Below	14985	0.93% Below	9291	0.78% Below	7792
	A					Total Amount of 1 <sup>st</sup> Bidder	984018	Total Amount of 2 <sup>nd</sup> Bidder	989712	Total Amount of <sup>3rd</sup> Bidder	991211

Shakil Mughal V V
Secretary Procurement Committee
Executive Engineer

DMC (South)

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer
KW&SB, Karachi

A. Razżak Junejó
Chairman Procurement Committee
Superintending Engineer
DMC (South)

# Bidder's Eligibility/Qualification Report

NIT No: EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017

Tender published: -

SPPRA Website ( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163

Method of Procurement:

Single Stage - One Envelope Procedure

Work #. 04

Description of

Work:

Repair / Maintenance of Street Light System at Shara-e-Liaqat & internal street DMC

(South)

Name of Bidder:

M/s. S.M Builders(1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s. S.M Builders	M/s. Ovais & Bilal Ent	M/s. Al-Maqbool Associate	
1.	Electric license for electric work	Available	Available	Available	
2.	NTN Certificate	Available	Available	Available	
3.	Pay Order of Bid Security	Available	Available	Available	
4.	Profession Tax Certificate	Available	Available	Available	
5.	Certificate Sindh Revenue Board	Available			
6.	Minimum 03 Years' Experience of relevant field	Available	Available	Available	
7.	Turnover at last 03 Years	Available, above than Estimate coast	Available, above than Estimate coast	Available, above than Estimate coast	
8.	Rate must be quoted in Figure & Words	Yes	Yes	Yes	
9.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization Letter	Yes	Yes	Yes	
10.	Bid must be submitted in sealed cover	Yes	Yes	Yes	
Qualifi	ied / Disqualified	Qualified	Qualified	Qualified	

Shakil Mughal

Secretary Procurement Committee Executive Engineer

DMC (South)

Muhammad Nadeem
Member **Procurement** Committee
Assistant Executive Engineer

KW&SB, Karachi

A.RazzaqueJunio
Chairman Procurement Committee
Superintending Engineer

1.	Name of Procuring Agency: District Munic	ipal Corporati	on South, Karachi
2.	Tender Reference No: NIT No:EE/M&E/DM	IC/South/ 001 /	2017dt: 08-11-2017 (work at Sr.No: (05)
3. T	ender Description / Name of Work/item:	Improveme	
4.	Method of Procurement: SINGLE STA	GE – ONE EN	VELOPE PROCEDURE
5.	Tender Published: SPPRA Website( www.ppr	asindh.gov.pk	SPPRA Sr. No: 35163
6.	Total Bid Documents Sold:	03 Nos.	
7.	Total Bids Received:	03 Nos.	
8.	Technical Bid Opening Date (if applicable)	Not Applicab	le
9.	No. of Bid technically qualified (if applicable):	Not Applicable	е
10.	Bids Rejected:		
	Financial Bid Opening Date:		
	AL MANAGEMENT CONTRACTOR CONTRACT		· ·

S.No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost		parison with mated cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3		4	5	6
1.	M/s. Waheed & Sons.	0.90 % below S/R Rs: 987031/-	1 <sup>st</sup>	9,	95,995/-	Bid accepted due to lowest & in order	Bidding process valid
2.	M/s. Huzaifa Ent .	0.74 % below S/R Rs: 988625/-	2 <sup>nd</sup>	9,	95, 995/	Bid accepted due to lowest & in order	Bidding process valid
3.	M/s. New Spectrum Ent .	0.59 % below S/R Rs: 990119/-	3 <sup>rd</sup>	9,	95, 995/	Bid accepted due to lowest & in order	Bidding process valid

M/s. Waheed & Sons .lowest as a successful Bidder.

12. Bid Evaluation Report:

Shakil Mughal
Secretary Procurement Committee
Executive Engineer

Executive Enginee DMC (South)

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer KW&SB, Karachi A.Razzaque.luhijo
Chairman Procurement Committee
Superintending Engineer

#### PROCUREMENT COMMITTEE DISTRICT MUNICIPAL CORPORATION SOUTH, KARACHI



#### **COMPARATIVE STATEMENT**

Name of work:- Improvement / Repair/ Maintenance of Street Light System at Different Roads DMC South

SR.#	DESCRIPTION		ENGINE	ER ESTIMATE		M/s. Waheed	& Sons	M/s. Huzaifa	Ent.	M/s. New Spectr	um Ent.
		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029	2340	P/Mtr	69.00	161460.00	69.00	161460.00	69.00	161460.00	69.00	161460.00
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029.	360	P/Mtr	118.00	42480.00	118.00	42480.00	118.00	42480.00	118.00	42480.00
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.036 4mm2	90	P/Mtr	147.00	13230.00	147.00	13230.00	147.00	13230.00	147.00	13230.00
4	P/F one way SP 10/15 amp switch as req.	99	Each	58.00	5742.00	58.00	5742.00	58.00	5742.00	58.00	5742.00
5	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El.	40	Each	423.00	16920.00	423.00	16920.00	423.00	16920.00	423.00	16920.00
6	Providing & fixing 250 watts (SON-T) Lame @ the height as per site requirement & instruction of El	119	Each	2105.00	250495.00	2105.00	250495.00	2105.00	250495.00	2105.00	250495.00
7	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of El.	100	Each	3990.00	399000.00	3990.00	399000.00	3990.00	399000.00	3990.00	399000.00
8	Providing & fixing 250 watts (SON) ignitor in all respect at		Each								
	the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of El	90		1119.00	100710.00	1119.00	100710.00	1119.00	100710.00	1119.00	100710.00
9	Providing & fixing acrylic cover for 250 watts light @ as per site	9	Each		5050.00		5050.00		5050.00		5050.00
	requirement & instruction of El.		Total of So	662.00 hedule Items	5958.00 995995/-	662.00	5958.00 995995/-	662.00	5958.00 995995/-	662.00	5958.00 995995/-
			Total of Sc	neutile items	335335/-	0.90 % Below	8964	0.74% Below	7370	0.59% Below	5876
						Total Amount of 1 <sup>st</sup> Bidder	987031	Total Amount of 2 <sup>nd</sup> Bidder	988625	Total Amount of <sup>3rd</sup> Bidder	990119

Shakil Mug Secretary Procurement Committee
Executive Engineer
DMC (South)

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer KW&SB, Karachi

Chairman Procurement Committee Superintending Engineer DMC (South)

#### Bidder's Eligibility/Qualification Report

NIT No: EE/M&E/DMC/South/ 001 /2017 dt: 08-11-2017

Tender published: -

SPPRA Website ( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163

**Method of Procurement:** 

Single Stage - One Envelope Procedure

Work #. 05

Description of

Work:

Improvement / Repair/ Maintenance of Street Light System at Different Roads DMC

South

Name of Bidder:

M/s. Waheed & Sons(1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s. Waheed & Sons	M/s. Huzaifa Ent	M/s. New Spectrum Ent	
1.	Electric license for electric work	Available	Available	Available	
2.	NTN Certificate	Available	Available	Available	
3.	Pay Order of Bid Security	Available	Available	Available	
4.	Profession Tax Certificate	Available	Available	Available	
5.	Certificate Sindh Revenue Board	Available	Available	Available	
6.	Minimum 03 Years' Experience of relevant field	Available	Available	Available	
7.	Turnover at last 03 Years	Available, above than Estimate coast	Available, above than Estimate coast	Available, above than Estimate coast	
8.	Rate must be quoted in Figure & Words	Yes	Yes	Yes	
9. Bid is signed, named and stamped by the authorized person of the firm along with Authorization Letter		Yes	Yes	Yes	
10.	Bid must be submitted in sealed cover	Yes	Yes	Yes	
Qualifi	ied / Disqualified	Qualified	Qualified	Qualified	

Shakil Mughal

Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer

KW&SB, Karachi

A.Razzaque Junijo

Chairman Procurement Committee Superintending Engineer

1.	Name of Procuring Agency: <u>District Municip</u>	pal Corporatio	on South, Karachi
2.	Tender Reference No: NIT No:EE/M&E/DM0	C/South/ 001 /2	2017dt: 08-11-2017 (work at Sr.No: (06)
3.	Tender Description / Name of Work/item:		ent / Repair/ Maintenance of Street Light Preedy Street & Internal <u>Street DMC</u>
4.	Method of Procurement: SINGLE STAGE	GE – ONE EN\	/ELOPE PROCEDURE
5.	Tender Published: SPPRA Website( www.ppra	asindh.gov.pk)	SPPRA Sr. No: 35163
6.	Total Bid Documents Sold:	03 Nos.	
7.	Total Bids Received:	03 Nos.	
8.	Technical Bid Opening Date (if applicable)	Not Applicabl	e
9.	No. of Bid technically qualified (if applicable):	Not Applicable	
10.	Bids Rejected:	Nil	
11.	Financial Bid Opening Date:	29-11-2017	

S.No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comparison with Estimated cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3	4	5	6
1.	M/s. S.M Builders .	1.00 % below S/R Rs: 987019/-	1 <sup>st</sup>	9, 96, 989/-	Bid accepted due to lowest & in order	Bidding process valid
2.	M/s Ahmed Electrical Service	0.87 % below S/R Rs: 988315/-	2 <sup>nd</sup>	9, 96, 989/	Bid accepted due to lowest & in order	Bidding process valid
3.	M/s. Al-Maqbool Associates .	0.49 % below S/R Rs: 992104/-	3 <sup>rd</sup>	9, 96, 989/	Bid accepted due to lowest & in order	Bidding process valid

M/s. S.M Builders.lowest as a successful Bidder.

12. Bid Evaluation Report:

Shakil Mughal Secretary Procurement Committee Executive Engineer

DMC (South)

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer KW&SB, Karachi A.Razzaque unijo
Chairman Procurement Committee
Superintending Engineer
DMC (South)

# PROCUREMENT COMMITTEE DISTRICT MUNICIPAL CORPORATION SOUTH, KARACHI



#### **COMPARATIVE STATEMENT**

Name of work:- Improvement / Repair/ Maintenance of Street Light System at Preedy Street & Internal Street DMC South

SR.#	DESCRIPTION			EER ESTIMATE		M/s. S.M.Builde		M/s. Ahmed Ele		M/s. Al-Maqbool A	
	INCATION/SIGNAST AVGRADAT	QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029	720	P/Mtr	69.00	49680.00	69.00	49680.00	69.00	49680.00	69.00	49680.00
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029.	630	P/Mtr	118.00	74340.00	118.00	74340.00	118.00	74340.00	118.00	74340.00
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.036	270	P/Mtr	147.00	39690.00	147.00	39690.00	147.00	39690.00	147.00	39690.00
4	Manufacturing providing & fixing GI single Arm double arch as per site requirement with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts & bolts	8	Each	1876.00	15008.00	1876.00	15008.00	1876.00	15008.00	1876.00	15008.00
5	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke,capacitor & Internal wiring complete in all respect at the height up to 31ft as per site requirement and instruction of El.	10	Each	10105.00	101050.00	10105.00	101050.00	10105.00	101050.00	10105.00	101050.00
6	P/F one way SP 10/15 amp switch as req.	65	Each	58.00	3770.00	58.00	3770.00	58.00	3770.00	58.00	3770.00
7	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El.	32	Each	423.00	13536.00	423.00	13536.00	423.00	13536.00	423.00	13536.00
8	Providing & fixing 250 watts (SON-T) Lame @ the height as per site requirement & instruction of El	111	Each	2105.00	233655.00	2105.00	233655.00	2105.00	233655.00	2105.00	233655.00
9	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of El.	91	Each	3990.00	363090.00	3990.00	363090.00	3990.00	363090.00	3990.00	363090.00
10	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of El	78	Each	1119.00	87282.00	1119.00	87282.00	1119.00	87282.00	1119.00	87282.00
11	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of El.	24	Each	662.00	<b>15888.00</b>	662.00	15888.00	662.00	15888.00	662.00	15888.00

gun

Jangas I

1.00 % Below	9970	0.87% Below	8674	0.49% Below	4885
Total Amount of 1 <sup>st</sup> Bidder	987019	Total Amount of 2 <sup>nd</sup> Bidder	988315	Total Amount of	992104

Shakil Muthal
Secretary Procurement Committee
Executive Engineer
DMC (South)

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer KW&SB. Karachi A. Razzak June Chairman Procurement Committee Superintending Engineer DMC (South)

# Bidder's Eligibility/Qualification Report

NIT No: EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017

Tender published: -

SPPRA Website ( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163

Method of Procurement:

Single Stage - One Envelope Procedure

Work #. 06

Description of

Work:

Improvement / Repair/ Maintenance of Street Light System at Preedy Street & Internal Street DMC South

Name of Bidder:

M/s. S.M. Builders(1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/sS.M. Builders	M/s. Ahmed Electrical Ser.	M/s. Al-Maqbool Associate
1.	Electric license for electric work	Available	Available	Available
2.	NTN Certificate	Available	Available	Available
3.	Pay Order of Bid Security	Available	Available	Available
4.	Profession Tax Certificate	Available	Available	Available
5.	Certificate Sindh Revenue Board	Available	Available	Available
6.	Minimum 03 Years' Experience of relevant field	Available	Available	Available
7.	Turnover at last 03 Years	Available, above than Estimate coast	Available, above than Estimate coast	Available, above than Estimate coast
8.	Rate must be quoted in Figure & Words	Yes	Yes	Yes
9.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization Letter	Yes	Yes	Yes
10.	Bid must be submitted in sealed cover	Yes	Yes	Yes
Qualifi	ied / Disqualified	Qualified	Qualified	Qualified

Shakil Mughal

Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer

tant Executive Engineer Superintending Engineer KW&SB, Karachi DMC (South)

A.RazzaqueJunije

Chairman Procurement Committee

1.	Name of Procuring Agency: District Municipal Corporation South, Karachi
2.	Tender Reference No: NIT No:EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017 (work at Sr.No: (07)
3.	Tender Description / Name of Work/item: Repair / Maintenance of Lighting System at Different Interna

Streets Lyari & Sadder Zone DMC (South)

4.	Method of Procurement: SINGLE STA	GE – ONE EN	VELOPE PROCEDURE
5.	Tender Published: SPPRA Website( www.ppr	asindh.gov.pk	) SPPRA Sr. No: 35163
6.	Total Bid Documents Sold:	03 Nos.	
7.	Total Bids Received:	03 Nos.	
8.	Technical Bid Opening Date (if applicable)	Not Applica	ble
9.	No. of Bid technically qualified (if applicable):	Not Applicab	le
10.	Bids Rejected:	Nil	

29-11-2017

12. Bid Evaluation Report:

11. Financial Bid Opening Date:

S.No	Name of Firm or Bidder	Cost offered by the Bidder	in terms		parison with mated cost	Reasons for acceptance/ rejection	Remarks	
0	1	2	3		4	5	6	
1.	M/s. S.M Builders.	1.100 % below S/R Rs: 987057/-	1 <sup>st</sup>	9,	98, 035/-	Bid accepted due to lowest & in order	Bidding process valid	
2.	M/s. Huzaifa Ent.	0.86 % below S/R Rs: 989452/-	2 <sup>nd</sup>	9,	98, 035/	Bid accepted due to lowest & in order	Bidding process valid	
3.	M/s. New Spectrum Ent.	0.64 % below S/R Rs: 991648/-	3 <sub>rd</sub>	9,	98, 035/	Bid accepted due to lowest & in order	Bidding process valid	

M/s. S.M Builders.lowest as a successful Bidder.

Shakil Mughal

Secretary Procurement Committee Executive Engineer

DMC (South)

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer
KW&SB, Karachi

Chairman Procurement Committee
Superintending Engineer

# PROCUREMENT COMMITTEE DISTRICT MUNICIPAL CORPORATION SOUTH, KARACHI



#### **COMPARATIVE STATEMENT**

Name of work:- Repair / Maintenance of Lighting System at Different Internal Streets Lyari & Sadder Zone DMC (South)

SP#	DESCRIPTION	ENGINEER ESTIMATE			M/sS.M Build	ers	M/s. Huzaifa Ent.		M/s. New Spectrum Ent.		
SR.#		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029	2250	P/Mtr	69.00	155250.00	69.00	155250.00	69.00	155250.00	69.00	155250.00
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029.	540	P/Mtr	118.00	63720.00	118.00	63720.00	118.00 63720.00		118.00	63720.00
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.036 4mm2	180	P/Mtr	147.00	26460.00	147.00	26460.00	147.00	26460.00	147.00	26460.00
4	P/F one way SP 10/15 amp switch as reg.	93	Each	58.00	5394.00	58.00	5394.00	58.00	5394.00	58.00	5394.00
5	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of EI.	34	Each	423.00	14382.00	423.00	14382.00	423.00	14382.00	423.00	14382.00
6	Providing & fixing 250 watts (SON-T) Lame @ the height as per site requirement & instruction of El	110	Each	2105.00	231550.00	2105.00	231550.00	2105.00	231550.00	2105.00	231550.00
7	Providing & fixing 250 watts		Each								
	(SON-T) Chowk @ the height as per site requirement & instruction of EI.	97		3990.00	387030.00	3990.00	387030.00	3990.00	387030.00	3990.00	387030.00
8	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of El	95	Each	1119.00	106305.00	1119.00	106305.00	1119.00	106305.00	1119.00	106305.00
9	Providing & fixing acrylic cover for 250 watts light @ as per site requirement &		Each	1110.00		1115.00		1110.00			
	instruction of EI.	12	_ , , , , _	662.00	7944.00	662.00	7944.00	662.00	7944.00	662.00	7944.00
	N M A		Total of Sc	hedule Items	998035/-	1.10 % Below	998035/-	0.86% Below	998035/- 8583	0.64% Below	998035/- 6387
				Total Amount of 1st Bidder	987057	Total Amount of 2 <sup>nd</sup> Bidder	989452	Total Amount of 3rd Bidder	991648		

Continue Page #02

(mly

Shakil Mughal
Secretary Procurement Committee
Executive Engineer
DMC (South)

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer KW&SB, Karachi

A. Razzak Junejó

Chairman Procurement Committee Superintending Engineer DMC (South)

### Bidder's Eligibility/Qualification Report

NIT No: EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017

Tender published: -

SPPRA Website ( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163

Method of Procurement:

Single Stage - One Envelope Procedure

Work #. 07

Description of

Repair / Maintenance of Lighting System at Different Internal Streets Lyari & Sadder

Work:

Zone DMC (South)

Name of Bidder:

M/s. S.M. Builders(1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/sS.M. Builders	M/s. Huzaifa Ent.	M/s. New Spectrum Ent.	
1.	Electric license for electric work	Available	Available	Available	
2.	NTN Certificate	Available	Available	Available	
3.	Pay Order of Bid Security	Available	Available	Available	
4.	Profession Tax Certificate	Available	Available	Available	
5.	Certificate Sindh Revenue Board	Available	Available	Available	
6.	Minimum 03 Years' Experience of relevant field	Available	Available	Available	
7.	Turnover at last 03 Years	Available, above than Estimate coast	Available, above than Estimate coast	Available, above than Estimate coast	
8.	Rate must be quoted in Figure & Words	Yes	Yes	Yes	
9.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization Letter	Yes	Yes	Yes	
10.	Bid must be submitted in sealed cover	Yes	Yes	Yes	
Qualif	ied / Disqualified	Qualified	Qualified	Qualified	

Shakil Mughal Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem
Member **Procurement** Committee
Assistant Executive Engineer
KW&SB, Karachi

A.Razzaque Junijo
Chairman Procurement Committee
Superintending Engineer

1.	Name of Procuring Agency: District Municipal Corporation South, Karachi
2.	Tender Reference No: NIT No:EE/M&E/SD/DMC/South/ 001 /2017dt: 08-11-2017 (work at Sr.No: (08)
3.	Tender Description / Name of Work/item: Improvement of Lighting System at the area of U.C-11  DMC South
4.	Method of Procurement: SINGLE STAGE – ONE ENVELOPE PROCEDURE
5.	Tender Published: SPPRA Website( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163
6.	Total Bid Documents Sold: 03 Nos.
7.	Total Bids Received: 03 Nos.
8.	Technical Bid Opening Date (if applicable) Not Applicable
9.	No. of Bid technically qualified (if applicable): Not Applicable
10.	Bids Rejected: Nil

29-11-2017

12. Bid Evaluation Report:

11. Financial Bid Opening Date: \_

S.No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost		parison with mated cost	Reasons for acceptance/ rejection	Remarks	
0	1	2	3		4	5	6	
1.	M/s. New Spectrum Ent.	0.89 % below on S/R 895517 Open rate <u>96060</u> <u>991577</u>	1 <sup>st</sup>		03,559/- + pen Rate	Bid accepted due to lowest & in order	Bidding process valid	
2.	M/s. S. S. K Ent.	0.66 % below on S/R 897596 Open rate 97020 994616	2 <sup>nd</sup>	1.5	03,559/- + pen Rate	Bid accepted due to lowest & in order	Bidding process valid	
3.	M/s. Waheed & Sons.	0.43 % below on S/R 899674 Open rate 997354 997354	3 <sup>rd</sup>		03,559/- + cen Rate	Bid accepted due to lowest & in order	Bidding process valid	

M/s. New Spectrum Enterprises .lowest as a successful Bidder.

Shakil Mughal
Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer
KW&SB, Karachi

A.RazzaqueJunijo Chairman Procurement Committee Superintending Engineer DMC (South)



#### **COMPARATIVE STATEMENT**

Name of work:- Improvement of Lighting System at the area of U.C-11 DMC South

SR.#	DESCRIPTION			ER ESTIMATE		M/s. New Spe	Sept. March Control of the Control o	M/s. S.S.K Er	7/25	M/s. Waheed &	Sons
	2.	QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029	900	P/Mtr	69.00	62100.00	69.00	62100.00	69.00	62100.00	69.00	62100.00
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029.	600.51	P/Mtr	118.00	70860.00	118.00	70860.00	118.00	70860.00	118.00	70860.00
3	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke, capacitor & Internal wiring complete in all respect at the height up to 31ft as per site requirement and instruction of EI.	10	P/Mtr	10105.00	101050.00	10105.00	101050.00	10105.00	101050.00	10105.00	101050.00
4	Manufacturing providing & fixing GI single Arm double arch as per site with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts &	10	rmu	10100:00	101030.00	10105.50	101030.00	10105.00	101030.00	10103.00	101030.00
	bolts.	10	Each	3086.00	30860.00	3086.00	30860.00	3086.00	30860.00	3086.00	30860.00
5	Providing & fixing 250 watts (SON-T) Lame @ the height as per site requirement & instruction of EI	86	Each	2105.00	181030.00	2105.00	181030.00	2105.00	181030.00	2105.00	181030.00
6	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of EI.	86	Each	3990.00		3990.00	343140.00	3990.00	343140.00		3
7	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of EI	86	Each	1119.00	343140.00 96234.00	1119.00	96234.00	1119.00	96234.00	3990.00	96234.00
8	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction		Each	,		1110.00	00201.00	1110.00	30201.00	1110.00	30204.00
	of El.	35/		423.00	14805.00	423.00	14805.00	423.00	14805.00	423.00	14805.00

423.00 14805.00

9	P/F one way SP 10/15 amp switch as req.	60	Each	58.00	3480.00	58.00	3480.00	58.00	3480.00	58.00	3480.00
10	Providing & Fixing Energy Saver 45-watts (Imported) best quality as per site requirement & instruction of EI.	60	Each	Open Rate	Open Rate	1050.00	63000.00	1055.00	63300.00	1055.00	63300.00
11	Providing & Fixing Moon Light body with holder iron mash best quality as per site requirement & instruction of EI.	60	Each	Open Rate	Open Rate	425.00	25500.00	430.00	25800.00	435.00	26100.00
12	Providing & Fixing one way SP 20/30Amp switch as req as per site requirement & instruction of EI	72	Each	Open Rate	Open Rate	105.00	7560.00	110.00	7920.00	115.00	8280.00
				chedule Items	903559/-		903559/-	1,10,00	903559/-	110.00	903559/-
				Open Rate			96060		97020		97680
						0.89% Below	8042	0.66% Below	5963	0.43% Below	3885
						Total Amount of 1 <sup>st</sup> Bidder	991577	Total Amount of 2 <sup>nd</sup> Bidder	994616	Total Amount of 3rd Bidder	997354

Shakil Mughal Secretary Procurement Committee Executive Engineer

ecutive Engineer
DMC (South)

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer KW&SB, Karachi A. Razzak Junejo Chairman Procurement Committee

Superintending Engineer DMC (South)

NIT No: EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017

SPPRA Website ( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163

**Method of Procurement:** 

Single Stage - One Envelope Procedure

Work #. 08

Description of

Work:

Improvement of Lighting System at the area of U.C-11 DMC South

Name of Bidder:

M/s. New Spectrum Enterprises (1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s New Spectrum Enterprises	M/s. S.S.K. Ent.	M/s. Waheed & Sons
1.	Electric license for electric work	Available	Available	Available
2.	NTN Certificate	Available	Available	Available
3.	Pay Order of Bid Security	Available	Available	Available
4.	Profession Tax Certificate	Available	Available	Available
5.	Certificate Sindh Revenue Board	Available	Available	Available
6.	Minimum 03 Years' Experience of relevant field	Available	Available	Available
7.	Turnover at last 03 Years	Available, above than Estimate coast	Available, above than Estimate coast	Available, above than Estimate coast
8.	Rate must be quoted in Figure & Words	Yes	Yes	Yes
9.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization Letter	Yes	Yes	Yes
10.	Bid must be submitted in sealed cover	Yes	Yes	Yes
Qualif	ied / Disqualified	Qualified	Qualified	Qualified

Shakil Mughal Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem

Member Procurement Committee

Assistant Executive Engineer KW&SB, Karachi

A.Razzaque Junijo Chairman Procurement Committee Superintending Engineer

1		Name of Procuring Agency: <u>District Municipal Corporation</u>	n South, Karachi
3.	200		ighting System at Baghdadi Saifi Lane
4.		Method of Procurement: SINGLE STAGE – ONE ENVE	ELOPE PROCEDURE
5.		Tender Published: SPPRA Website( www.pprasindh.gov.pk ) SI	SPPRA Sr. No: 35163
6.		Total Bid Documents Sold:03 Nos.	
7.			
8.		Technical Bid Opening Date (if applicable) Not Applicable	
9.		No. of Bid technically qualified (if applicable): Not Applicable	
1	0.	0. Bids Rejected: Nil	
1	1.	Financial Bid Opening Date:	

<ol><li>Bid Evaluation Report</li></ol>	12.	Bid	Eva	luation	Report
---	-----	-----	-----	---------	--------

S.No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost	1 21	parison with mated cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3		4	5	6
1.	M/s. New Spectrum Ent.	0.85 % below on S/R 910690 Open rate 80575 991265	1 <sup>st</sup>	4.000	18,497/- + ben Rate	Bid accepted due to lowest & in order	Bidding process valid
2.	M/s. Al-Maqbool Associates .	0.67 % below on S/R 912343 Open rate <u>81400</u> <u>993743</u>	2 <sup>nd</sup>	255.5	18,497/- + en Rate	Bid accepted due to lowest & in order	Bidding process valid
3.	M/s. S.M. Builders.	0.48 % below on S/R 914088 Open rate 82225 996313	3 <sup>rd</sup>	10000	18,497/- + en Rate	Bid accepted due to lowest & in order	Bidding process valid

M/s. New Spectrum Enterprises .lowest as a successful Bidder.

Shakil Mughal

Secretary Procurement Committee Executive Engineer

DMC (South)

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer

KW&SB , Karachi

A.RazzaqueJunijo
Chairman Procurement Committee
Superintending Engineer



#### **COMPARATIVE STATEMENT**

Name of work:- Improvement of Lighting System at Baghdadi Saifi Lane U.C-07 DMC South

SR.#	DESCRIPTION		ENGINE	ER ESTIMATE	(2V)	M/s. New Spe	ctrum Ent.	THE RESERVE OF THE PARTY OF THE	ool Associate	M/s. S.M. Builders		
	WARE STREET, S	QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029	857.97	P/Mtr	69.00	59200.00	69.00	59200.00	69.00	59200.00	69.00	59200.00	
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029.	630	P/Mtr	118.00	74340.00	118.00	74340.00	118.00	74340.00	118.00	74340.00	
3	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke, capacitor & Internal wiring complete in all respect at the height up to 31ft as per site requirement and instruction of EI.	12	P/Mtr	10105.00	121260.00	10105.00	121260.00	10105.00	121260.00	10105.00	121260.00	
4	Manufacturing providing & fixing GI single Arm double arch as per site with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts & bolts.	12	Each	3086.00	37032.00	3086.00	37032.00	3086.00	37032.00	3086.00	37032.00	
5	Providing & fixing 250 watts (SON-T) Lame @ the height as per site requirement & instruction of EI	85	Each	2105.00	178925.00	2105.00	178925.00	2105.00	178925.00	2105.00	178925.00	
6	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of EI.	85	Each	3990.00	339150.00	3990.00	339150.00	3990.00	339150.00	3990.00	339150.00	
7	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of EI	85	Each	1119.00	95115.00	1119.00	95115.00	1119.00	95115.00	1119.00	95115.00	
8	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of EI.	25	Each	423.00	10575.00	423.00	10575.00	423.00	10575.00	423.00	10575.00	

July

9	P/F one way SP 10/15		Each		199						
	amp switch as req.	50		58.00	2900.00	58.00	2900.00	58.00	2900.00	58.00	2900.00
10	Providing & Fixing Energy Saver 45-watts (Imported) best quality as per site requirement & instruction of EI.	50	Each	Open Rate	Open Rate	1050.00	52500.00	1055.00	52750.00	1060.00	53000.00
11	Providing & Fixing Moon Light body with holder iron mash best quality as per site requirement & instruction of EI.	50	Each	Open Rate	Open Rate	425.00	21250.00	430.00	21500.00	435.00	21750.00
12	Providing & Fixing one way SP 20/30Amp switch as req as per site requirement & instruction of EI	65	Each	Open Rate	Open Rate	105.00	6825.00	110.00	7150.00	115.00	7475.00
			Total of Sc	hedule Items	918497/-		918497/-		918497/-		918497/-
				Open Rate			80575		81400		82225
						0.85% Below	7807	0.67% Below	6154	0.48% Below	4409
						Total Amount of 1 <sup>st</sup> Bidder	991265	Total Amount of 2 <sup>nd</sup> Bidder	993743	Total Amount of <sup>3rd</sup> Bidder	996313

Shakil Mughal Secretary Procurement Committee Executive Engineer

DMC (South)

Muhammad Nadeem Member Procurement Committee
Assistant Executive Engineer
KW&SB, Karachi

A. Razzak Junejo
Chairman Procurement Committee
Superintending Engineer
DMC (South)

NIT No: EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017

Tender published: - SPPRA Website ( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163

Method of Procurement:

Single Stage - One Envelope Procedure

Work #. 09

Description of

Work:

Improvement of Lighting System at Baghdadi Saifi Lane U.C-07 DMC South

Name of Bidder:

M/s. New Spectrum Enterprises (1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s New Spectrum Enterprises	M/s. Al-Maqbool Associate	M/s. S.M. Builders
1.	Electric license for electric work	Available	Available	Available
2.	NTN Certificate	Available	Available	Available
3.	Pay Order of Bid Security	Available	Available	Available
4.	Profession Tax Certificate	Available	Available	Available
5.	Certificate Sindh Revenue Board	Available	Available	Available
6.	Minimum 03 Years' Experience of relevant field	Available	Available	Available
7.	Turnover at last 03 Years	Available, above than Estimate coast	Available, above than Estimate coast	Available, above than Estimate coast
8.	Rate must be quoted in Figure & Words	Yes	Yes	Yes
9.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization Letter	Yes	Yes	Yes
10.	Bid must be submitted in sealed cover	Yes	Yes	Yes
Qualifi	ied / Disqualified	Qualified	Qualified	Qualified

Shakil Mughal

Secretary Procurement Committee

Executive Engineer

DMC (South)

Muhammad Nadeem

Member Procurement Committee

Assistant Executive Engineer

KW&SB, Karachi

A.RazzasueJunijo
Chairman Procurement Committee
Superintending Engineer

- Name of Procuring Agency: <u>District Municipal Corporation South, Karachi</u>
- 2. Tender Reference No: NIT No:EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017 (work at Sr.No: (10)
- 3. Tender Description / Name of Work/item: Repair/Maintenance of street light system at Kharadar area, Jodia bazaar & internal street of DMC South
- 4. Method of Procurement: SINGLE STAGE ONE ENVELOPE PROCEDURE
- 5. Tender Published: SPPRA Website( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163
- 6. Total Bid Documents Sold: \_\_\_\_\_\_ 03 Nos.
- 7. Total Bids Received: 03 Nos.
- Technical Bid Opening Date (if applicable)
   Not Applicable
- 9. No. of Bid technically qualified (if applicable): Not Applicable
- 10. Bids Rejected: Nil
- 11. Financial Bid Opening Date: 29-11-2017
- 12. Bid Evaluation Report:

S.No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost	A 50000 A 10000 P	arison with nated cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3		4	5	6
1.	M/s. Ovais & Bilal Enterprises .	1.50 % below S/R Rs: 984992/-	1 <sup>st</sup>	9,	99, 992/-	Bid accepted due to lowest & in order	Bidding process valid
2.	M/s. Huzaifa Ent.	0.89 % below S/R Rs: 991092/-	2 <sup>nd</sup>	9,	99, 992/	Bid accepted due to lowest & in order	Bidding process valid
3.	M/s. S.S.K Ent.	0.63 % below S/R Rs: 993692/-	3 <sup>rd</sup>	9,	99, 992/	Bid accepted due to lowest & in order	Bidding process valid

M/s. Ovais & Bilal Enterprises.lowest as a successful Bidder.

Shakil Mughal

Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem
Member Procurement Committee

Assistant Executive Engineer KW&SB , Karachi

A.RazzagueJunijo Chairman Procurement Committee

Superintending Engineer DMC (South)

SR. # 10

#### COMPARATIVE STATEMENT

Name of work:- Repair/ Maintenance of Street Light System at Kharadar area, Jodia Bazar & Internal Street of DMC (South)

DESCRIPTION  Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029.  Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029.  Providing & laying (MAIN or SUB MAIN) PVC insulated	1080 270	P/Mtr	69.00	74520.00	69.00	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029.  Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029.		P/Mtr	69.00	74520.00	69.00					
SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029.	270					74520.00	69.00	74520.00	69.00	74520.00
	2/0	P/Mtr	118.00	31860.00	118.00	31860.00	118.00	31860.00	118.00	31860.00
with single core copper conductor 250/440 volts size 2-7/.036 4mm2	360	P/Mtr	147.00	52920.00	147.00	52920.00	147.00	52920.00	147.00	52920.00
Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.044 6mm2	180	Each	213.00	38340.00	213.00	38340.00	213.00	38340.00	213.00	38340.00
Providing & fixing one way	404									
SP 10/15amp switch as req.	101	Each	58.00	5858.00	58.00	5858.00	58.00	5858.00	58.00	5858.00
Providing & fixing holder for 250/400 watts light @ as per ite requirement & instruction of El.	70	Each	423.00	29610.00	423.00	29610.00	423.00	29610.00	423.00	29610.00
Providing & fixing 250 watts SON-T) Lamp @ the height as per site requirement & instruction of EI.	109	Each	2105.00	229445.00	2105.00	229445.00	2105.00	229445.00	2105.00	229445.00
Providing & fixing 250 watts SON-T) Chowk @ the height as per site requirement & enstruction of EI.	99	Each	3990.00	395010.00	3990.00	395010.00				395010.00
Providing & fixing 250 watts		Each								25570.00
ns	per site requirement & struction of EI.  oviding & fixing 250 watts ON) ignitor in all respect at a height up to40ft with the lp of hydraulic crane and anual labor as per site.	per site requirement & 99 struction of El. 99 oviding & fixing 250 watts ON) ignitor in all respect at e height up to40ft with the lp of hydraulic crane and anual labor as per site.	per site requirement & 99 struction of EI. 99 oviding & fixing 250 watts ON) ignitor in all respect at e height up to40ft with the lp of hydraulic crane and	per site requirement & 99 3990.00  oviding & fixing 250 watts ON) ignitor in all respect at e height up to40ft with the lp of hydraulic crane and anual labor as per site.	per site requirement & 99 3990.00 395010.00  oviding & fixing 250 watts ON) ignitor in all respect at e height up to40ft with the lp of hydraulic crane and anual labor as per site.	per site requirement & 99 3990.00 395010.00 3990.00  oviding & fixing 250 watts ON) ignitor in all respect at e height up to40ft with the lp of hydraulic crane and anual labor as per site.	per site requirement & 99 3990.00 395010.00 3990.00 395010.00  oviding & fixing 250 watts ON) ignitor in all respect at e height up to40ft with the lp of hydraulic crane and anual labor as per site.	per site requirement & 99 3990.00 395010.00 3990.00 395010.00 3990.00  solviding & fixing 250 watts ON) ignitor in all respect at the height up to40ft with the lip of hydraulic crane and anual labor as per site.	per site requirement & 99 3990.00 395010.00 3990.00 395010.00 395010.00 395010.00  solviding & fixing 250 watts ON) ignitor in all respect at a height up to40ft with the lp of hydraulic crane and anual labor as per site.	per site requirement & 99 3990.00 395010.00 3990.00 395010.00 3990.00 395010.00 3990.00 395010.00 3990.00 395010.00 3990.00

9.00 133/61.00

10	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of El.	14	Each	662.00	9268.00	662.00	9268.00	662.00	9268.00	662.00	9268.00
		Т	otal of Scho	edule Items	999992/-		999992/-		999992/-		999992/-
						1.50 %		0.89%		0.63%	
						Below	15000	Below	8900	Below	6300
						Total		Total			
						Amount of		Amount of		Total Amount	
						1 <sup>st</sup> Bidder	984992	2 <sup>nd</sup> Bidder	991092	of <sup>3rd</sup> Bidder	993692

Shakil Mughal Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer KW&SB, Karachi

A. Razzak Junejo

Chairman Procurement Committee Superintending Engineer DMC (South)

NIT No: EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017

Tender published: - SPPRA Website ( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163

**Method of Procurement:** 

Single Stage - One Envelope Procedure

Work #. 10

Description of

Work:

Repair/Maintenance of street light system at Kharadar area, Jodia bazaar &

internal street of DMC South

Name of Bidder:

M/s. Ovais & Bilal Enterprises (1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s Ovais & Bilal Enterprises	M/s. Huzaifa Ent.	M/s. S.S.K Ent.
1.	Electric license for electric work	Available	Available	Available
2.	NTN Certificate	Available	Available	Available
3.	Pay Order of Bid Security	Available	Available	Available
4.	Profession Tax Certificate	Available	Available	Available
5.	Certificate Sindh Revenue Board	Available	Available	Available
6.	Minimum 03 Years' Experience of relevant field	Available	Available	Available
7.	Turnover at last 03 Years	Available, above than Estimate coast	Available, above than Estimate coast	Available, above than Estimate coast
8.	Rate must be quoted in Figure & Words	Yes	Yes	Yes
9.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization Letter	Yes	Yes	Yes
10.	Bid must be submitted in sealed cover	Yes	Yes	Yes
Qualifi	ied / Disqualified	Qualified	Qualified	Qualified

Shakil Mughal

Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem

Member Procurement Committee

Assistant Executive Engineer KW&SB, Karachi

A.RazzaqueJunijo

Chairman Procurement Committee Superintending Engineer

- Name of Procuring Agency: <u>District Municipal Corporation South, Karachi</u>
- 2. Tender Reference No: NIT No:EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017 (work at Sr.No: (11)
- 3. Tender Description / Name of Work/item: Repair/Maintenance of street light system at sadder & Burns Road area & internal street of DMC South
- 4. Method of Procurement: SINGLE STAGE ONE ENVELOPE PROCEDURE
- 5. Tender Published: SPPRA Website( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163
- 6. Total Bid Documents Sold: 03 Nos.
- 7. Total Bids Received: 03 Nos.
- 8. Technical Bid Opening Date (if applicable) Not Applicable
- 9. No. of Bid technically qualified (if applicable): Not Applicable
- 10. Bids Rejected: Nil
- 11. Financial Bid Opening Date: 29-11-2017
- 12. Bid Evaluation Report:

S.No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost		parison with nated cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3		4	5	6
1.	M/s. Ovais & Bilal Enterprises.	1.60 % below S/R Rs: 983921/-	1 <sup>st</sup>	9,	99, 920/-	Bid accepted due to lowest & in order	Bidding process valid
2.	M/s. Waheed & Sons.	0.92 % below S/R Rs: 990721/-	2 <sup>nd</sup>	9,	99, 920/	Bid accepted due to lowest & in order	Bidding process valid
3.	M/s. Ahmed Electrical Services.	0.77 % below S/R Rs: 992221/-	3 <sup>rd</sup>	9,	99, 920/	Bid accepted due to lowest & in order	Bidding process valid

M/s. Ovais & Bilal Enterprises. Lowest as a successful Bidder.

Shakil Mughal

Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer

KW&SB , Karachi

A.RazzaqueJunio
Chairman Procurement Committee
Superintending Engineer

# PROCUREMENT COMMITTEE DISTRICT MUNICIPAL CORPORATION SOUTH, KARACHI COMPARATIVE STATEMENT

SR. # 11

Name of work:- Repair / Maintenance of Street Light System at sadder & Burns road area & internal street of DMC (South)

SR.# DESCRIPTION			ENGINE	ER ESTIMATE		M/s. Ovis & B	M/s. Ovis & Bilal Ent.		& Sons.	M/s. Ahmed Electrical Ser.	
3K.#	DESCRIPTION	QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029.	900	P/Mtr	69.00	62100.00	69.00	62100.00	69.00	62100.00	69.00	62100.00
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029.	450	P/Mtr	118.00	53100.00	118.00	53100.00	118.00	53100.00	118.00	62100.00 53100.00
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size										
	2-7/.036 4mm2	270	P/Mtr	147.00	39690.00	147.00	39690.00	147.00	39690.00	147.00	39690.00
4	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke,capacitor & Internal wiring complete in all respect at the height up to 31ft as per site requirement and instruction of EI.	7	Each	10105.00	70735.00	213.00	70735.00	213.00	70735.00	213.00	70735.00
5	Manufacturing providing & fixing GI single Arm double arch as per site requirement with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts & bolts	h	Each	1876.00	13132.00	58.00	13132.00	58.00	13132.00	58.00	13132.00
6	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of EI.	44	Each	423.00	18612.90	420.00	18612.00	423.00	18612.00	423.00	18612.00

2.00 428.00 1

7	Providing & fixing 250 watts (SON-T) Lamp @ the height as per site requirement &		Each								
	instruction of EI.	102		2105.00	214710.00	2105.00	214710.00	2105.00	214710.00	2105.00	214710.00
8	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of EI.	95	Each	3990.00	379050.00	3990.00	379050.00	3990.00	379050.00	3990.00	379050.00
9	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to40ft with the help of hydraulic crane and manual labor as per site requirement and instruction of EI.	109	Each	1119.00	121971.00	1119.00	121971.00	1119.00	121971.00	1119.00	121971.00
10	Providing & fixing one way SP 10/15amp switch as req.	120	Each	58.00	6960.00	58.00	6960.00	58.00	6960.00	58.00	6960.00
11	Providing & fixing acrylic cover for 250 watts light @ as per site requirement &		Each								
	instruction of EI.	30		662.00	19860.00	662.00	19860.00	662.00	19860.00	662.00	19860.00
		Т	otal of Sch	edule Items	999920/-		999920/-		999920/-		999920/-
						1.60 %		0.92%		0.77%	*
						Below	15999	Below	9199	Below	7699
						Total		Total		1000 V V V VV	
						Amount of 1 <sup>st</sup> Bidder	983921	Amount of 2 <sup>nd</sup> Bidder	990721	Total Amount of 3rd Bidder	992221

Shakil Mughal
Secretary Procurement Committee
Executive Engineer
DMC (South)

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer KW&SB, Karachi A. Razzak Junejo Chairman Procurement Committee Superintending Engineer DMC (South)

NIT No: EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017

Tender published: -

SPPRA Website ( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163

**Method of Procurement:** 

Single Stage - One Envelope Procedure

Work #. 11

Description of

Repair/Maintenance of street light system at sadder & Burns Road area & internal

Work:

street of DMC South

Name of Bidder:

M/s. Ovais & Bilal Enterprises (1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s Ovais & Bilal Enterprises	M/s. Waheed & Sons	M/s. Ahmed Electrical Ser.
1.	Electric license for electric work	Available	Available	Available
2.	NTN Certificate	Available	Available	Available
3.	Pay Order of Bid Security	Available	Available	Available
4.	Profession Tax Certificate	Available	Available	Available
5.	Certificate Sindh Revenue Board	Available	Available	Available
6.	Minimum 03 Years' Experience of relevant field	Available	Available	Available
7.	Turnover at last 03 Years	Available, above than Estimate coast	Available, above than Estimate coast	Available, above than Estimate coast
8.	Rate must be quoted in Figure & Words	Yes	Yes	Yes
9.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization Letter	Yes	Yes	Yes
10.	Bid must be submitted in sealed cover	Yes	Yes	Yes
Qualif	ied / Disqualified	Qualified	Qualified	Qualified

Shakil Mughal
Secretary Procurement Committee
Executive Engineer

DMC (South)

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer
KW&SB, Karachi

A.RazzaqueJunijo
Chairman Procurement Committee
Superintending Engineer

- Name of Procuring Agency: <u>District Municipal Corporation South, Karachi</u>
- 2. Tender Reference No: NIT No:EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017 (work at Sr.No: (12)
- 3. Tender Description / Name of Work/item: Maintenance of street light system at Ranchor Line area & internal street of DMC South
- 4. Method of Procurement: SINGLE STAGE ONE ENVELOPE PROCEDURE
- 5. Tender Published: SPPRA Website( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163
- 6. Total Bid Documents Sold: 03 Nos.
- 7. Total Bids Received: 03 Nos.
- Technical Bid Opening Date (if applicable)
   Not Applicable
- 9. No. of Bid technically qualified (if applicable): Not Applicable
- 10. Bids Rejected: Nil
- 11. Financial Bid Opening Date: 29-11-2017
- 12. Bid Evaluation Report:

S.No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost	Comp	parison with nated cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3		4	5	6
1.	M/s. Waheed & Sons.	1.70 % below S/R Rs: 982992/-	1 <sup>st</sup>	9,	99, 992/-	Bid accepted due to lowest & in order	Bidding process valid
2.	M/s. New Spectrum Ent.	0.90 % below S/R Rs: 990992/-	2 <sup>nd</sup>	9,	99, 992/	Bid accepted due to lowest & in order	Bidding process valid
3.	M/s. Ovais & Bilal Enterprises	0.68 % below S/R Rs: 993192/-	3 <sup>rd</sup>	9,	99, 992/	Bid accepted due to lowest & in order	Bidding process valid

M/s. Waheed & Sons. Lowest as a successful Bidder.

Shakliyilughal

Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer

KW&SB , Karachi

A.RazzasueJunijo Chairman Procurement Committee Superintending Engineer DMC (South)



#### **COMPARATIVE STATEMENT**

Name of work:- Maintenance of Street Light System at Ranchor Line area & internal street of DMC (South)

SR.#	DESCRIPTION		ENGINE	ER ESTIMATE		M/s. Waheed	& Sons	M/s. New Spe	ctrum Ent.	M/s. Ovais & Bilal Ent.	
		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029.	990	P/Mtr	69.00	68310.00	69.00	68310.00	69.00	68310.00	69.00	68310.00
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029.	450	P/Mtr	118.00	53100.00	118.00	53100.00	118.00	53100.00	118.00	53100.00
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.036 4mm2	270	P/Mtr	147.00	39690.00	147.00	39690.00	147.00	39690.00	147.00	39690.00
4	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke,capacitor & Internal										
	wiring complete in all respect at the height up to 31ft as per site requirement and instruction of EI.	2	Each	10105.00	20210.00	10105.00	20210.00	10105.00	20210.00	10105.00	20210.00
5	Manufacturing providing & fixing GI single Arm double arch as per site requirement with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts & bolts	2	Each	1876.00	3752.00	1876.00	3752.00	1876.00	3752.00	1876.00	3752.00
6	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El.	50	Each	423.00	21150.00	423.00	21150.00	423.00	21150.00	423.00	21150.00
7	Providing & fixing 250 watts (SON-T) Lamp @ the height as per site requirement & instruction of EI.	1200	#ach	2105.00	252600.00	2105.00	252600.00	2105.00	252600.00	2105.00	252600.00

Mulus

8	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of EI.	99	Each	3990.00	395010.00	3990.00	395010.00	3990.00	395010.00	3990.00	395010.00
9	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to40ft with the help of hydraulic crane and manual labor as per site requirement and instruction of EI.	110	Each	1119.00	123090.00	1119.00	123090.00	1119.00	123090.00	1119.00	123090.00
10	Providing & fixing one way SP 10/15amp switch as req.	124	Each	58.00	7192.00	58.00	7192.00	58.00	7192.00	58.00	7192.00
11	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of EI.	24	Each	662.00	15888.00	662.00	15888.00	662.00	15888.00	662.00	15888.00
	motraction of Et.	7	otal of Sch	edule Items	999992/-	002.00	999992/-	002.00	999992/-	002.00	999992/-
			0141 01 001	icadic items	333327	1.70 % Below	17000	0.90% Below	9000	0.68% Below	6800
						Total		Total			
						Amount of 1 <sup>st</sup> Bidder	982992	Amount of 2 <sup>nd</sup> Bidder	990992	Total Amount of 3rd Bidder	993192

Shakil Mughal
Secretary Procurement Committee
Executive Engineer

DMC (South)

Muhammad Nadeem Member Procurement Committee

Assistant Executive Engineer KW&SB, Karachi

Chairman Procurement Committee

Superintending Engineer DMC (South)

NIT No: EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017

Tender published: -

SPPRA Website ( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163

**Method of Procurement:** 

Single Stage - One Envelope Procedure

Work #. 12

Description of

Work:

Maintenance of street light system at Ranchor Line area & internal street of

**DMC South** 

Name of Bidder:

M/s. Waheed & Sons (1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s Waheed & Sons	M/s. New Spectrum Enterprises	M/s. Ovais & Bial Enterprises.
1.	Electric license for electric work	Available	Available	Available
2.	NTN Certificate	Available	Available	Available
3.	Pay Order of Bid Security	Available	Available	Available
4.	Profession Tax Certificate	Available	Available	Available
5.	Certificate Sindh Revenue Board	Available	Available	Available
6.	Minimum 03 Years' Experience of relevant field	Available	Available	Available
7.	Turnover at last 03 Years	Available, above than Estimate coast	Available, above than Estimate coast	Available, above than Estimate coast
8.	Rate must be quoted in Figure & Words	Yes	Yes	Yes
9.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization Letter	Yes	Yes	Yes
10.	Bid must be submitted in sealed cover	Yes	Yes	Yes
Qualifi	ied / Disqualified	Qualified	Qualified	Qualified

Shakil Mughal

Secretary Procurement Committee

Executive Engineer

DMC (South)

Muhammad Nadeem

Member Procurement Committee

Assistant Executive Engineer KW&SB, Karachi

A.RazzaqueJunijo

Chairman Procurement Committee Superintending Engineer

1.	Name of Procuring Agency: <u>District Munici</u>	pal Corporat	ion South, Karachi
2.	Tender Reference No: NIT No:EE/M&E/DMC		particular to the state of the
3.	Tender Description / Name of Work/item:	Maintenance	of street light system at Internal area of DMC Sout
4.	Method of Procurement: SINGLE STA	GE – ONE EN	IVELOPE PROCEDURE
5.	Tender Published: SPPRA Website( www.ppra	asindh.gov.pk	) SPPRA Sr. No: 35163
6.	Total Bid Documents Sold:	03 Nos.	
7.	Total Bids Received:	03 Nos.	
8.	Technical Bid Opening Date (if applicable)	Not Applicat	ble
9.	No. of Bid technically qualified (if applicable):	Not Applicabl	le
10.	Bids Rejected:	Nil	
11.	Financial Bid Opening Date:	29-11-2017	7

12.	Bid	Eva	luation	Report

S.No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost	100000000000000000000000000000000000000	parison with mated cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3		4	5	6
1.	M/s. Ovais & Bilal Enterprises	1.00 % below S/R Rs: 989618/-	1 <sup>st</sup>	9,	99, 614/-	Bid accepted due to lowest & in order	Bidding process valid
2.	M/s. S.S.K Ent.	0.86 % below S/R Rs: 991017/-	2 <sup>nd</sup>	9,	99, 614/	Bid accepted due to lowest & in order	Bidding process valid
3.	M/s. Huzaifa Enterprises	0.65 % below S/R Rs: 993117/-	3 <sup>rd</sup>	9,	99, 614/	Bid accepted due to lowest & in order	Bidding process valid

M/s. Ovais & Bilal Enterprises. Lowest as a successful Bidder.

Shakil Mughal Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer

KW&SB , Karachi

A.RazzagueJunijo Chairman Procurement Committee Superintending Engineer DMC (South)



#### **COMPARATIVE STATEMENT**

Name of work:- Maintenance of Street Light System at Internal area of DMC (South)

SR.#	DESCRIPTION		ENGINE	ER ESTIMATE		M/s. Ovais & I	Bilal Ent.	M/s. S.S.K Er	nt.	M/s. Huzaifa Ent.	
		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029.	990	P/Mtr	69.00	68310.00	69.00	68310.00	69.00	68310.00	69.00	68310.00
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029.	450	P/Mtr	118.00	53100.00	118.00	53100.00	118.00	53100.00	118.00	53100.0
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.036 4mm2	360	P/Mtr	147.00	52920.00	147.00	52920.00	147.00	52920.00	147.00	52920.0
4	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of EI.	59	Each	423.00	24957.00	423.00	24957.00	423.00	24957.00	423.00	24957.0
5	Providing & fixing 250 watts (SON-T) Lamp @ the height										
	as per site requirement & instruction of EI.	123	Each	2105.00	258915.00	2105.00	258915.00	2105.00	258915.00	2105.00	258915.0
6	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of EI.	99	Each	3990.00	395010.00	3990.00	395010.00	3990.00	395010.00	3990.00	395010.0
7	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to40ft with the help of hydraulic crane and manual labor as per site requirement and instruction of EI.	110	Each	1119.00	123090.00	1119.00	123090.00	1119.00	123090.00	1119.00	123090.0
8	Providing & fixing one way SP 10/15amp switch as req.	120	Each								
9	Providing & fixing acrylic cover for 250 watts light @ as per site requirement &	128	Each	58.00	7424.00	58.00	7424.00	58.00	7424.00	58.00	7424.0
	instruction of EI.	24	MINI	662.00	15888.00	662.00	15888.00	662.00	15888.00	662.00	15888.0

July

Total of Schedule Items	999614/-		999614/-		999614/-		99 4/-
		1.00 % Below	9996	0.86% Below	8597	0.65% Below	6497
		Total Amount of 1 <sup>st</sup> Bidder	989618	Total Amount of 2 <sup>nd</sup> Bidder	991017	Total Amount of 3rd Bidder	993117

Shakil Mughal Secretary Procurement Committee Executive Engineer DMC (South) Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer KW&SB, Karachi A. Razzak Juneio
Chairman Procurement Committee
Superintending Engineer
DMC (South)

NIT No: EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017

Tender published: -

SPPRA Website ( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163

Method of Procurement:

Single Stage - One Envelope Procedure

Work #. 13

Description of

Work:

Maintenance of street light system at Internal area of DMC South

Name of Bidder:

M/s. Ovais & Bial Enterprises. (1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s Ovais & Bial Enterprises.	M/s. S.S.K Enterprises	M/s. Huzaifa Enterprises.
1.	Electric license for electric work	Available	Available	Available
2.	NTN Certificate	Available	Available	Available
3.	Pay Order of Bid Security	Available	Available	Available
4.	Profession Tax Certificate	Available	Available	Available
5.	Certificate Sindh Revenue Board	ard Available		Available
6.	Minimum 03 Years' Experience of relevant field	Available	Available	Available
7.	Turnover at last 03 Years	Available, above than Estimate coast	Available, above than Estimate coast	Available, above than Estimate coast
8.	Rate must be quoted in Figure & Words	Yes	Yes	Yes
9.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization Letter	Yes	Yes	Yes
10.	Bid must be submitted in sealed cover	Yes	Yes	Yes
Qualifi	ed / Disqualified	Qualified	Qualified	Qualified

Shakil Mughal

Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem

Member Procurement Committee

Assistant Executive Engineer KW&SB, Karachi A.Razzaque.lungs
Chairman Procurement Committee
Superintending Engineer

1.	Name of Procuring Agency: District Municipal Corporation South, Karachi
2. 3.	Tender Reference No: NIT No:EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017 (work at Sr.No: (14)  Tender Description / Name of Work/item: Repair/Maintenance of street light system at City area of DMC South
4.	Method of Procurement: SINGLE STAGE – ONE ENVELOPE PROCEDURE
5.	Tender Published: SPPRA Website( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163
6.	Total Bid Documents Sold: 03 Nos.
7.	Total Bids Received: 03 Nos.
8.	Technical Bid Opening Date (if applicable) Not Applicable
9.	No. of Bid technically qualified (if applicable): Not Applicable
10.	Bids Rejected:Nil

29-11-2017

S.No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost		parison with mated cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3		4	5	6
1.	M/s. Ovais & Bilal Enterprises	1.20 % below S/R Rs: 987821/-	1 <sup>st</sup>	9	, 99, 819/-	Bid accepted due to lowest & in order	Bidding process valid
2.	M/s. Al-Maqbool Associates .	0.88 % below S/R Rs: 991021/-	2 <sup>nd</sup>	9	, 99, 819/	Bid accepted due to lowest & in order	Bidding process valid
3.	M/s. Ahmed Electrical Service	0.70 % below S/R Rs: 992820/-	3 <sup>rd</sup>	9	, 99, 819/	Bid accepted due to lowest & in order	Bidding process valid

M/s. Ovais & Bilal Enterprises. Lowest as a successful Bidder.

11. Financial Bid Opening Date:

12. Bid Evaluation Report:

Shakil Mughal

Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer
KW&SB, Karachi

A.RazzaqueJunijo
Chairman Procurement Committee
Superintending Engineer
DMC (South)



#### **COMPARATIVE STATEMENT**

Name of work:- Repair / Maintenance of Street Light System at City area of DMC (South)

SR.#	DESCRIPTION			ER ESTIMATE		M/s. Ovais &		M/s. Al-Maqbe	PARTY CONTROL HER STORY TO THE	M/s. Ahmed Ele	
		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029.	990	P/Mtr	69.00	68310.00	69.00	68310.00	69.00	68310.00	69.00	68310.00
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029.	450	P/Mtr	118.00	53100.00	118.00	53100.00	118.00	53100.00	118.00	53100.00
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.036 4mm2	360	P/Mtr	147.00	52920.00	147.00	52920.00	147.00	52920.00	147.00	52920.00
4	P/F of street light 250 watts (SON) having IP54 classification with 250w lamp, choke,capacitor & Internal wiring complete in all respect at the height up to 31ft as per site requirement and instruction of EI.	2	Each	10105.00	20210.00	10105.00	20210.00	10105.00	20210.00	10105.00	20210.00
5	Manufacturing providing &		Lucii	10100.00	20210.00	10100.00	20210.00	10105.00	20210.00	10103.00	20210.00
	fixing GI single Arm double arch as per site requirement with instruction of EI with following specification GI pipe 2" dia 10 SWG-7' long 2 Nos MS clamps with nuts & bolts	3	Each	1876.00	5628.00	1876.00	5628.00	1876.00	5628.00	1876.00	5628.00
6	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of El.	64	Each	423.00	27072.00	423.00	27072.00	423.00	27072.00	423.00	27072.00
7	Providing & fixing 250 watts (SON-T) Lamp @ the height as per site requirement &	122	Each			į.			5		
8	instruction of EI.  Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of EI.	95	Each	2105.00	256810.00	2105.00	256810.00	2105.00	256810.00	2105.00	256810.00
9	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to40ft with the	105	Each	3990.00	379050.00 117495.00	3990.00	379050.00 117495.00	3990.00 1119.00	379050.00 117495.00	3990.00	379050.00 117495.00

July

	help of hydraulic crane and manual labor as per site requirement and instruction of El.										
10	Providing & fixing one way SP 10/15amp switch as req.	126	Each	58.00	7308.00	58.00	7308.00	58.00	7308.00	58.00	7308.00
11	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of EI.	18	Each	662.00	11916.00	662.00	11916.00	662.00	11916.00	662.00	11916,00
		7	otal of Sch	nedule Items	999819/-		999819/-		999819/-		999819/-
						1.20 % Below	11998	0.88% Below	8798	0.70% Below	6999
						Total Amount of 1 <sup>st</sup> Bidder	987821	Total Amount of 2 <sup>nd</sup> Bidder	991021	Total Amount of <sup>3rd</sup> Bidder	992820

Shakil Mughal
Secretary Procurement Committee
Executive Engineer
DMC (South)

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer KW&SB, Karachi A. Razzak Junejo

Chairman Procurement Committee Superintending Engineer DMC (South)

NIT No: EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017

Tender published: -

SPPRA Website ( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163

**Method of Procurement:** 

Single Stage - One Envelope Procedure

Work #. 14

**Description of** 

Work:

Repair/Maintenance of street light system at City area of DMC South

Name of Bidder:

M/s. Ovais & Bial Enterprises. (1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s Ovais & Bial Enterprises.	M/s. Al-Maqbool Associate	M/s. Ahmed Electrical Ser.
1.	Electric license for electric work	Available	Available	Available
2.	NTN Certificate	Available	Available	Available
3.	Pay Order of Bid Security	Available	Available	Available
4.	Profession Tax Certificate	Available	Available	Available
5.	Certificate Sindh Revenue Board	Available	Available	Available
6.	Minimum 03 Years' Experience of relevant field	Available	Available	Available
7.	Turnover at last 03 Years	Available, above than Estimate coast	Available, above than Estimate coast	Available, above than Estimate coast
8.	Rate must be quoted in Figure & Words	Yes	Yes	Yes
9.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization Letter	Yes	Yes	Yes
10.	Bid must be submitted in sealed cover	Yes	Yes	Yes
Qualifi	ed / Disqualified	Qualified	Qualified	Qualified

Shakil Mughal Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer KW&SB, Karachi

A.RazzaqueJunijo Chairman Procurement Committee Superintending Engineer DMC (South)

- Name of Procuring Agency: <u>District Municipal Corporation South, Karachi</u> 1. Tender Reference No: NIT No:EE/M&E/SD/DMC/South/ 001 /2017dt: 08-11-2017 (work at Sr.No: (15) 2. Tender Description / Name of Work/item: Repair/Maintenance of building light system at different School 3. Saddar Division DMC South 4. Method of Procurement: SINGLE STAGE – ONE ENVELOPE PROCEDURE 5. Tender Published: SPPRA Website( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163 Total Bid Documents Sold: 03 Nos. 6. 03 Nos. 7. Total Bids Received: Technical Bid Opening Date (if applicable) Not Applicable 8. 9. No. of Bid technically qualified (if applicable): Not Applicable
- 12. Bid Evaluation Report:

			-				
S.No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost		parison with mated cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3		4	5	6
1.	M/s. New Spectrum Ent.	0.89 % below on S/R 495549 Open rate <u>500315</u> <u>995864</u>	1 <sup>st</sup>		99,999/- + pen Rate	Bid accepted due to lowest & in order	Bidding process valid
2.	M/s. Waheed & Sons .	0.67 % below on S/R 496649 Open rate 502230 998879	2 <sup>nd</sup>	171	99,999/- + en Rate	Bid accepted due to lowest & in order	Bidding process valid
3.	M/s. Huzaifa Enterprises .	0.42 % below on S/R 497899 Open rate 501970 999869	3 <sup>rd</sup>	100	99,999/- + en Rate	Bid accepted due to lowest & in order	Bidding process valid

M/s. New Spectrum Enterprises .lowest as a successful Bidder.

10. Bids Rejected: Nil

11. Financial Bid Opening Date: 29-11-2017

Shakil∖Mughal

Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer

KW&SB, Karachi

A.RazzaqueJunio
Chairman Procurement Committee

Superintending Engineer DMC (South)



#### **COMPARATIVE STATEMENT**

Name of work: - - Repair / Maintenance of building Light System at different schools of Saddar Division DMC South.

SR.#	DESCRIPTION		The state of the s	ER ESTIMAT			pectrum Ent.	M/s. Wahee	Andrew Commence of Commence	M/s. Huzaifa Ent.	
	DESCRIPTION	QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	P/L(Main or sub Main) pvc insulated with size 2- 7/29 copper conductor in 3/4" dia pvc conduit recessed in the wall or column as req.	272.7	P/Mtr	222.00	605394.00	222.00	605394.00	222.00	605394.00	222.00	605394.00
2	P/L(Main or sub Main) pvc insulated with size 2- 7/36 copper conductor in 3/4" dia pvc conduit recessed in the wall or column as req.	360	P/Mtr.	252.00	90720.00	252.00	90720.00	252.00	90720.00	252.00	90720.00
3	Wiring for call bell point with 3/29 pvc insulated wire in 20mm(3/4")channel Patti on surface as req,	65	Each	1590.00		1590.00	103250.00	1590.00	402250.00	1590.00	
4	P/F Circuit breaker 6,10,15,20,30,40,50, & 63 Amp: S.P (TB-5S) on prepared board as required	20	Each	916.00	103350.00	916.00	18320.00	916.00	18320.00	916.00	18320.00
5	P/F Bakolite ceiling rose with two terminals.	1/2/0	Each	72.00	8640.00	72.00	8640.00	222.00	8640.00	222.00	8640.00
6	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size	M						r			
	3/.029	900	P/Mtr	69.00	62100.00	69.00	62100.00	69.00	62100.00	69.00	62100.00

62100.00

7	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor		P/Mtr								
	250/440 volts size 2- 7/.029	540		118.00	63720.00	118.00	63720.00	118.00	63720.00	118.00	63720.00
8	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.044	630	P/Mtr	147.00	92610.00	147.00	92610.00	147.00	92610.00	147.00	92610.00
9	P/F Ceiling Fan sweep (Pak/Royal/Millit)make or equivalent with necessary electric connection/cartage etc complete	30	Each	Open Rate	Open Rate	5860	175800.00	5860	175800.00	5860	175800.00
10	P/F wall bracket fan 18" sweep imported make or equalent quality i/c necessary electric connection etc complete	2	Each	Open Rate	Open Rate	4490	8980.00	4495.00	8990.00	4500.00	9000.00
11	P/F Fan Dimmer fancy type imported make with necessary connection.		Each	Open Rate	Open Rate						, 4
		35				518	18130.00	518.00	18130.00	520.00	18200.00
12	P/F Capacitor 3.5 UF for ceiling fan best quality etc complete.	45	Each	Open Rate	Open Rate	145	0525.00	145.00	6525.00	146.00	0570.00
13	Re-Winding of Ceiling Fan 56" sweep of tapping and varnishing with fine finishing etc i/c all cost of mechanical labor and cartage from site to	45		Open Rate	Open Rate	145	6525.00	145.00	6525.00	146.00	6570.00
	work shop back as directed by E.I etc complete.	20	Each			1595	31900.00	1600.00	32000.00	1600.00	32000.00
14	P/F Tube Light 40watts complete fitting as per req.			Open Rate	Open Rate						
		15	Each			780	11700.00	785.00	11775.00	786.00	11790.00
15	.P/F Energy Saver 24watts imported as req.			Open Rate	Open Rate	1					
	D/ELED D. II. 12	115	Each	0	0	230	26450.00	230.00	26450.00	230.00	26450.00
16	P/F LED Bulb 13watts (Imported) best quality as req.	)		Open Rate	Open Rate						12
	/ N	25	Each			210	5250.00	215.00	5375.00	215.00	5375.00

Vulue

P/F Holder screw type as req.			Open Rate	Open Rate						
	100	Each			185	18500.00	185.00	5860.00	185.00	18500.00
P/F Piston Pump motor 1 H.P super golden E/Motor Javed 1450 220v RPM as req	2	Fach	Open Rate	Open Rate	10950	21900 00	10950 00	21900.00	11000.00	22000.00
Rep/Maint:of Motor 1 H.P complete changing its shaft,bushes,bearing dismantling then rewinding motor with fine cooper wire varnishing drying then refixing & testing at site as req.			Open Rate	Open Rate						26650.00
Rep/Maint:of Motor 2 H.P complete changing its shaft,bushes,bearing dismantling then rewinding motor with fine cooper wire varnishing drying then refixing & testing at site as req.	3	Lacii	Open Rate	Open Rate	3320	20000.00	5525.00	20025.00	3330.00	20050.00
	2	Each			7490	14980.00	7495.00	14990.00	7500.00	15000.00
P/F Water Collar 35/45 Ltr best quality as req.			Open Rate	Open Rate						
	01	Each			35500	35500.00	36100.00	36100.00	35500.00	35500.00
R/M of water collar after dismantle than service of			Open Rate	Open Rate		ži.				l Sa
coil i/c gas charges, replacement of compressor and re-fixing the same.	2	Each			10300	20600.00	10320.00	20640.00	10325.00	20650.00
P/F Channel Patti 16x25 Adamji as req.			Open Rate	Open Rate						
	350	Each			55	19250.00	57.00	19950.00	57.00	19950.00
P/F switch 5 amp imported 10 gang with switch & Socket make i/c plastic board etc complete.		1	Open Rate	Open Rate			-			
	60	Each			650	39000.00	652.00	39120.00	652.00	39120.00
P/F switch 5 amp imported 4 gang switch & socket make i/c plastic board etc complete			Open Rate	Open Rate						
1	55	Each			350	19250.00	352.00	19360.00	353.00	19415.00
VID	Total	of Sche	edule Items	499999/-	11	1		499999/-		499999/-
01					Mu	JW_				
	P/F Piston Pump motor 1 H.P super golden E/Motor Javed 1450 220v RPM as req  Rep/Maint:of Motor 1 H.P complete changing its shaft, bushes, bearing dismantling then rewinding motor with fine cooper wire varnishing drying then refixing & testing at site as req.  Rep/Maint:of Motor 2 H.P complete changing its shaft, bushes, bearing dismantling then rewinding motor with fine cooper wire varnishing drying then refixing & testing at site as req.  P/F Water Collar 35/45 Ltr best quality as req.  R/M of water collar after dismantle than service of thermostat at switch cooling coil i/c gas charges, replacement of compressor and re-fixing the same.  P/F Channel Patti 16x25 Adamji as req.  P/F switch 5 amp imported 10 gang with switch & Socket make i/c plastic board etc complete.  P/F switch 5 amp imported 4 gang switch & socket make	P/F Piston Pump motor 1 H.P super golden E/Motor Javed 1450 220v RPM as req  Rep/Maint:of Motor 1 H.P complete changing its shaft,bushes,bearing dismantling then rewinding motor with fine cooper wire varnishing drying then refixing & testing at site as req.  5 Rep/Maint:of Motor 2 H.P complete changing its shaft,bushes,bearing dismantling then rewinding motor with fine cooper wire varnishing drying then refixing & testing at site as req.  2 P/F Water Collar 35/45 Ltr best quality as req.  01 R/M of water collar after dismantle than service of thermostat at switch cooling coil i/c gas charges, replacement of compressor and re-fixing the same.  2 P/F Channel Patti 16x25 Adamji as req.  2 P/F switch 5 amp imported 10 gang with switch & Socket make i/c plastic board etc complete.  60 P/F switch 5 amp imported 4 gang switch & socket make i/c plastic board etc complete	req.  P/F Piston Pump motor 1 H.P super golden E/Motor Javed 1450 220v RPM as req  2 Each  Rep/Maint:of Motor 1 H.P complete changing its shaft,bushes,bearing dismantling then rewinding motor with fine cooper wire varnishing drying then refixing & testing at site as req.  5 Each  Rep/Maint:of Motor 2 H.P complete changing its shaft,bushes,bearing dismantling then rewinding motor with fine cooper wire varnishing drying then refixing & testing at site as req.  2 Each  P/F Water Collar 35/45 Ltr best quality as req.  01 Each  R/M of water collar after dismantle than service of thermostat at switch cooling coil i/c gas charges, replacement of compressor and re-fixing the same.  2 Each  P/F Channel Patti 16x25 Adamji as req.  2 Each  P/F switch 5 amp imported 10 gang with switch & Socket make i/c plastic board etc complete.  60 Each  P/F switch 5 amp imported 4 gang switch & socket make i/c plastic board etc complete	req.  P/F Piston Pump motor 1 H.P super golden E/Motor Javed 1450 220v RPM as req  Rep/Maint:of Motor 1 H.P complete changing its shaft, bushes, bearing dismantling then rewinding motor with fine cooper wire varnishing drying then refixing & testing at site as req.  5 Each  Rep/Maint:of Motor 2 H.P complete changing its shaft, bushes, bearing dismantling then rewinding motor with fine cooper wire varnishing drying then refixing & testing at site as req.  2 Each  P/F Water Collar 35/45 Ltr best quality as req.  01 Each  R/M of water collar after dismantle than service of thermostat at switch cooling coil i/c gas charges, replacement of compressor and re-fixing the same.  2 Each  P/F Channel Patti 16x25 Adamji as req.  2 Each  Open Rate  Open Rate	req.    100   Each	req.  100 Each  P/F Piston Pump motor 1 H,P super golden E/Motor Javed 1450 220v RPM as req  2 Each  Rep/Maint:of Motor 1 H.P complete changing its shaft,bushes,bearing dismantling then rewinding motor with fine cooper wire varnishing drying then refixing & testing at site as req.  5 Each  Open Rate  Open Rate  Open Rate  Open Rate  Open Rate  Open Rate  P/F Water Collar 35/45 Ltr best quality as req.  2 Each  Open Rate  Open Rate	req.  100 Each  P/F Piston Pump motor 1 H.P super golden E/Motor Javed 1450 220v RPM as req  2 Each  Open Rate  Open Rate  Open Rate  Open Rate  Open Rate  10950 21900.00  Open Rate  Open Rate	P/F Piston Pump motor 1	P/F Piston Pump motor 1	P/F Piston Pump motor 1

. . .

Open Rate		500315		502230		5019
	0.89%		0.67%		0.42%	
	Below	4450	Below	3350	Below	2100
	Total		Total			
	Amount		Amount		Total	
	of 1 <sup>st</sup>		of 2 <sup>nd</sup>		Amount of	
	Bidder	995864	Bidder	998879	3rd Bidder	999869

Shakil Mughal
Secretary Procurement Committee
Executive Engineer
DMC (South)

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer KW&SB, Karachi

A. Razzak Junejo

Chairman Procurement Committee Superintending Engineer DMC (South)

NIT No: EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017

Repair/Maintenance of building light system at different School of Saddar Division

Tender published: -

SPPRA Website ( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163

Method of Procurement:

Single Stage - One Envelope Procedure

Work #. 15

Description of

Work:

**DMC South** 

Name of Bidder:

M/s. New Spectrum Enterprises. (1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s New Spectrum Enterprises.	M/s. Waheed & Sons	M/s. Huzaifa Ent.
1.	Electric license for electric work	Available	Available	Available
2.	NTN Certificate	Available	Available	Available
3.	Pay Order of Bid Security	Available	Available	Available
4.	Profession Tax Certificate	Available	Available	Available
5.	Certificate Sindh Revenue Board	Available	Available	Available
6.	Minimum 03 Years' Experience of relevant field	Available	Available	Available
7.	Turnover at last 03 Years	Available, above than Estimate coast	Available, above than Estimate coast	Available, above than Estimate coast
8.	Rate must be quoted in Figure & Words	Yes	Yes	Yes
9.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization Letter	Yes	Yes	Yes
10.	Bid must be submitted in sealed cover	Yes	Yes	Yes
Qualifi	ied / Disqualified	Qualified	Qualified	Qualified

Shakil Mudhal
Secretary Procurement Committee
Executive Engineer
DMC (South)

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer
KW&SB, Karachi

A.RazzagueJunijo
Chairman Procurement Committee
Superintending Engineer
DMC (South)

- Name of Procuring Agency: <u>District Municipal Corporation South, Karachi</u>
- 2. Tender Reference No: NIT No:EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017 (work at Sr.No: (16)
- 3. Tender Description / Name of Work/item: Improvement/Arrangement of Lighting System at 12, Rabiulawal 2017 of DMC(South)
- 4. Method of Procurement: SINGLE STAGE ONE ENVELOPE PROCEDURE
- 5. Tender Published: SPPRA Website( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163
- 6. Total Bid Documents Sold: 03 Nos.
- 7. Total Bids Received: 03 Nos.
- 8. Technical Bid Opening Date (if applicable) Not Applicable
- 9. No. of Bid technically qualified (if applicable): Not Applicable
- 10. Bids Rejected: Nil
- 11. Financial Bid Opening Date: 29-11-2017
- 12. Bid Evaluation Report:

S.No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost		arison with nated cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3		4	5	6
1.	M/s. S.M. Builders	1.00 % below S/R Rs: 989518/-	1 <sup>st</sup>	9,	99, 513/-	Bid accepted due to lowest & in order	Bidding process valid
2.	M/s. S.S.K Ent .	0.82 % below S/R Rs: 991317/-	2 <sup>nd</sup>	9,	99, 513/	Bid accepted due to lowest & in order	Bidding process valid
3.	M/s. Ovais & Bilal Enterprises.	0.58 % below S/R Rs: 993716/-	3 <sup>rd</sup>	9,	99, 513/	Bid accepted due to lowest & in order	Bidding process valid

M/s. S.M. Builders. Lowest as a successful Bidder.

Shakil Mughal

Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer

KW&SB, Karachi

Chairman Procurement Committee
Superintending Engineer



#### **COMPARATIVE STATEMENT**

Name of work:- Improvement / Arrangement of Lighting System for 12, Rabiulawal 2017 of DMC South

CD#	DESCRIPTION	Ll.,	ENGINE	ER ESTIMATE		M/s. S.M.Build		M/s. S.S.K En	1177	M/s. Ovis & Bilal Ent.	
SR.#	DESCRIPTION	QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029	900	P/Mtr	69.00	62100.00	69.00	62100.00	69.00	62100.00	69.00	62100.0
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029.	270	P/Mtr	118.00	31860.00	118.00	31860.00	118.00	31860.00	118.00	31860.00
3	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.036 4mm2	180	P/Mtr	147.00	26460.00	147.00	26460.00	147.00	26460.00	147.00	26460.0
4	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of EI.	48	Each	423.00	20304.00	10105.00	20304.00	10105.00	20304.00	10105.00	20304.0
5	Providing & fixing 250 watts (SON-T) Lame @ the height as per site requirement & instruction of EI	125	Each ·	2105.00	263125.00	2105.00	263125.00	2105.00	263125.00	2105.00	263125.0
6	Providing & fixing 250 watts		Each								
	(SON-T) Chowk @ the height as per site requirement & instruction of EI.	110		3990.00	438900.00	3990.00	438900.00	3990.00	438900.00	3990.00	438900.0
7	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of EI	130	Each	1119.00	145470.00	1119.00	145470.00	1119.00	145470.00	1119.00	145470.0
8	P/F one way SP 10/15 amp switch as req.	92	Each	58.00	5336.00	58.00	5336.00	58.00	5336.00	58.00	5336.0
9	Providing & fixing acrylic cover for 250 watts light @ as per site requirement & instruction of EI.	9	Each	662.00	5958.00	662.00	5958.00	662.00	5958.00	662.00	5958.0
1		Т	otal of Sch	edule Items	999513/-		999513/-		999513/-		999513
/					`	1.00 %	0005	0.82%	0100	0.58%	F70

Below

Total		Total			
Amount of		Amount of		Total Amount	
1 <sup>st</sup> Bidder	989518	2 <sup>nd</sup> Bidder	991317	of <sup>3rd</sup> Bidder	993716

Shakil Mughal
Secretary Procurement Committee
Executive Engineer
DMC (South)

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer
KW&SB, Karachi

A. Razzak Junejo Chairman Procurement Committee

Chairman Procurement Committee Superintending Engineer DMC (South)

NIT No: EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017

Tender published: -

SPPRA Website ( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163

**Method of Procurement:** 

Single Stage - One Envelope Procedure

Work #. 16

Description of

Work:

Improvement/Arrangement of Lighting System at 12, Rabiulawal 2017 of

DMC(South)

Name of Bidder:

M/s. S.M. Builders. (1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s S.M. Builders	M/sS.S.K. Ent.	M/s. Ovais & Bilal Enterprises.
1.	Electric license for electric work	Available	Available	Available
2.	NTN Certificate	Available	Available	Available
3.	Pay Order of Bid Security	Available	Available	Available
4.	Profession Tax Certificate	Available	Available	Available
5.	Certificate Sindh Revenue Board	Available	Available	Available
6.	Minimum 03 Years' Experience of relevant field	Available	Available	Available
7.	Turnover at last 03 Years	Available, above than Estimate coast	Available, above than Estimate coast	Available, above than Estimate coast
8.	Rate must be quoted in Figure & Words	Yes	Yes	Yes
9.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization Letter	Yes	Yes	Yes
10.	Bid must be submitted in sealed cover	Yes	Yes	Yes
Qualif	ied / Disqualified	Qualified	Qualified	Qualified

Shakil Mughal Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer

KW&SB, Karachi

A.RazzaqueJunijo
Chairman Procurement Committee

Superintending Engineer DMC (South)

1.	Name of Procuring Agency: District Municipal Corporation South, Karachi
2. 3.	Tender Reference No: NIT No:EE/M&E/SD/DMC/South/ 001 /2017dt: 08-11-2017 (work at Sr.No: (17) Tender Description / Name of Work/item: Repair/Maintenance of Electric Work at Lyari Division DMC South
4.	Method of Procurement: SINGLE STAGE – ONE ENVELOPE PROCEDURE
5.	Tender Published: SPPRA Website( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163
6.	Total Bid Documents Sold: 03 Nos.
7.	Total Bids Received: 03 Nos.
8.	Technical Bid Opening Date (if applicable) Not Applicable
9.	No. of Bid technically qualified (if applicable): Not Applicable
10.	Bids Rejected: Nil

29-11-2017

12. Bid Evaluation Report:

11. Financial Bid Opening Date:

S.No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost		parison with	Reasons for acceptance/ rejection	Remarks
0	1	2	3		4	5	6
1.	M/s. Waheed & Sons .	1.100 % below on S/R 908305 Open rate <u>81310</u> <u>989615</u>	1 <sup>st</sup>		18,407/- + ben Rate	Bid accepted due to lowest & in order	Bidding process valid
2.	M/s. Ahmed Electrical Service .	0.72 % below on S/R 911794 Open rate <u>82170</u> <u>993964</u>	2 <sup>nd</sup>	550.25	18,407/- + en Rate	Bid accepted due to lowest & in order	Bidding process valid
3.	M/s. Al-Maqbool Associates	0.39 % below on S/R 914825 Open rate 83396 998221	3 <sup>rd</sup>	50503	18,407/- + en Rate	Bid accepted due to lowest & in order	Bidding process valid

M/s. Waheed & Sons .lowest as a successful Bidder.

Shakil Mughal
Secretary Procurement Committee

Executive Engineer DMC (South)

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer

ssistant Executive Enginee KW&SB , Karachi A.Razzaque Jurijo Chairman Procurement Committee

Superintending Engineer DMC (South)



#### **COMPARATIVE STATEMENT**

Name of work:- Repair/Maintenance of Electric Work at Lyari Division DMC South.

SR.#	DESCRIPTION		ENGINE	ER ESTIMATE		M/s. Waheed	& Sons	M/s. Ahmed I	Elecrical Serv.	M/s. Al-Maqboo	I Associate
	DESCRIPTION	QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-3/.029	810	P/Mtr	69.00	55890.00	69.00	55890.00	69.00	55890.00	69.00	55890.00
2	Providing & laying (MAIN or SUB MAIN) PVC insulated with single core copper conductor 250/440 volts size 2-7/.029.	630	P/Mtr	118.00	74340.00	118.00	74340.00	118.00	74340.00	118.00	74340.00
3	Providing & fixing 250 watts (SON-T) Lame @ the height as per site requirement & instruction of EI	110	P/Mtr	2105.00	231550.00	2105.00	231550.00	2105.00	231550.00	2105.00	231550.00
4	Providing & fixing 250 watts (SON-T) Chowk @ the height as per site requirement & instruction of EI.	100	Each	3990.00	399000.00	3990.00	399000.00	3990.00	399000.00	3990.00	399000.00
5	Providing & fixing 250 watts (SON) ignitor in all respect at the height up to 40ft with the help of hydraulic crane & manual labor as per site requirement and instruction of El	113	Each	1119.00	126447.00	1119.00	126447.00	1119.00	126447.00	1119.00	126447.00
6	Providing & fixing holder for 250/400 watts light @ as per site requirement & instruction of EI.	60	Each	423.00	25380.00	423.00	25380.00	423.00	25380.00	423.00	25380.00
7	P/F one way SP 10/15 amp switch as req.	100	Each	58.00	5800.00	58.00	5800.00	58.00	5800.00	58.00	5800.00
8	Providing & Fixing Energy Saver 45-watts (Imported) best quality as per site requirement & instruction of	50	Each	Onen Bate	Onen Bete	1050.00	52500.00	1055.00	52750.00	1060.00	53000.00
9	Providing & Fixing Moon Light body with holder iron mash best quality as per site requirement & instruction of EI.	50	Each	Open Rate Open Rate	Open Rate Open Rate	425.00	21250.00	430.00	21500.00	438.00	53000.00 21900.00
10	Providing & Fixing one way SP 20/30Amp switch as req as per site requirement & instruction of EI	72	Each	Open Rate	Open Rate	105.00	7560.00	110.00	7920.00	118.00	8496.00

Open Rate		81310		82170		833
	1.10% Below	10102	0.72% Below	6613	0.39% Below	3582
	Total Amount of 1 <sup>st</sup> Bidder	989615	Total Amount of 2 <sup>nd</sup> Bidder	993964	Total Amount of <sup>3rd</sup> Bidder	998221

Shak Mughal
Secretary Procurement Committee
Executive Engineer
DMC (South)

Muhammad Nadeem Member Procurement Committee

Assistant Executive Engineer KW&SB, Karachi

A. Razzak Junejo Chairman Procurement Committee Superintending Engineer DMC (South)

NIT No: EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017

Tender published: -SPPRA Website ( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163

**Method of Procurement:** 

Single Stage - One Envelope Procedure

Work #. 17

Description of

Work:

Repair/Maintenance of Electric Work at Lyari Division DMC South

Name of Bidder:

M/s. Waheed & Sons. (1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s Waheed & Sons	M/sAhmed Electrical Ser	M/s. Al-Maqbool Associate.
1.	Electric license for electric work	Available	Available	Available
2.	NTN Certificate	Available	Available	Available
3.	Pay Order of Bid Security	Available	Available	Available
4.	Profession Tax Certificate	Available	Available	Available
5.	Certificate Sindh Revenue Board	Available	Available	Available
6.	Minimum 03 Years' Experience of relevant field	Available	Available	Available
7.	Turnover at last 03 Years	Available, above than Estimate coast	Available, above than Estimate coast	Available, above than Estimate coast
8.	Rate must be quoted in Figure & Words	Yes	Yes	Yes
9.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization Letter	Yes	Yes	Yes
10.	Bid must be submitted in sealed cover	Yes	Yes	Yes
Qualifi	ied / Disqualified	Qualified	Qualified	Qualified

Shakil Mughal

Secretary Procurement Committee Executive Engineer

DMC (South)

Muhammad Nadeem

Member Procurement Committee

Assistant Executive Engineer

KW&SB, Karachi

A.RazzaqueJuni

Chairman Procurement Committee

Superintending Engineer

1. Name of Procuring Agency: <u>District Municipal Corporation South, Karachi</u> 2. Tender Reference No: NIT No:EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017 (work at Sr.No: (18) 3. Tender Description / Name of Work/item: Improvement/Up-gradation of Electric Panel System at Main Office DMC South 4. Method of Procurement: SINGLE STAGE – ONE ENVELOPE PROCEDURE 5. Tender Published: SPPRA Website( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163 6. Total Bid Documents Sold: 03 Nos. Total Bids Received: 03 Nos. 7. Technical Bid Opening Date (if applicable) Not Applicable 8. No. of Bid technically qualified (if applicable): Not Applicable

12. Bid Evaluation Report:

S.No	Name of Firm or Bidder	Cost offered by the Bidder	Ranking in terms of cost		arison with nated cost	Reasons for acceptance/ rejection	Remarks
0	1	2	3		4	5	6
1.	M/s. New Spectrum Enterprises	Rs: 996700/-	1 <sup>st</sup>	9,	97, 900/-	Bid accepted due to lowest & in order	Bidding process valid
2.	M/s. Huzaifa Ent .	Rs: 998261/-	2 <sup>nd</sup>	9,	97, 900/	Bid accepted due to lowest & in order	Bidding process valid
3.	M/s. S.S.K Enterprises.	Rs: 999293/-	3 <sup>rd</sup>	9,	97, 900/	Bid accepted due to lowest & in order	Bidding process valid

11. Financial Bid Opening Date: 29-11-2017

M/s. New Spectrum Enterprises. Lowest as a successful Bidder.

10. Bids Rejected: Nil

Shakil Mughal

Secretary Procurement Committee Executive Engineer

DMC (South)

Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer

KW&SB , Karachi

A.Razzaque Junijo Chairman Procurement Committee

Superintending Engineer
DMC (South)



#### **COMPARATIVE STATEMENT**

Name of work:- Improvement/Up-gradation of Electric Panel System at Main Office DMC South.

SR.#	DESCRIPTION -	ENGINEER ESTIMATE				M/s. New Spectrum Ent.		M/s. Huzaifa Ent		M/s.S.S.K. Ent.	
		QTY	UNIT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT	RATE	AMOUNT
1	P/F Panel Board 24" x 36" x 8" 16SWG Single Shatter Best Quality as req.	01	P/Job	Open Rate		35450.00	35450.00	35500.00	35500.00	35550.00	35550.00
2	P/F Inter Lock System for K. Electric to Generator as per site.	01	Each	Open Rate		15900.00	15900.00	15925.00	15925.00	15950.00	15950.00
3	P/F Burs Bar Copper 1"x1/4" as per req.	15	P/Ft	Open Rate		1250.00	18750.00	1250.00	18750.00	1252.00	18780.00
4	P/F 4 Pole Circuit Breaker 400Amp adjustable (Marlin Green France/ Terasaki/Mitsubishi) as per req.	02	Each	Open Rate		59500.00	119000.00	59550.00	119100.00	59560.00	119120.00
5	P/F Single Pole Circuit Breaker 25Amp (Marlin Green France) as per req.	36	Each	Open Rate		650.00	23400.00	650.00	23400.00	652.00	23472.00
6	P/F TP 300Amp (Marlin Green France/ Terasaki/Mitsubishi) as per req.	02	Each	Open Rate		58450.00	116900.00	58500.00	117000.00	58520.00	117040.00
7	P/L wire 50mm 4-Core (Pak/Million) as per req.	31	P/Mtr	Open Rate		2330.00	72230.00	2330.00	72230.00	2330.00	72230.00
8	P/L wire 70mm 4-Core (Pak/Million) as per req.	90	P/Mtr	Ones Bets		3900.00	351000.00	3905.00	351450.00	3905.00	351450.00
9	P/F Breaker connector strip complete job work as per site as req,	01	P/Job	Open Rate Open Rate		750.00	750.00	800.00	800.00	825.00	825.00
10	P/F TP 3 Pole 400Amp for Master System (Marlin Green France/ Terasaki/Mitsubishi) as per req.	02	Each	Open Rate		29250.00	58500.00	29300.00	58600.00	29350.00	58700.00
11/	Provide Pvc Tape as req.	12	Each	Open Rate		32.00	384.00	33.00	396.00	33.00	396.00
12	P/F Cable Tie as req.	04	P/Pkt	Open Rate		150.00	600.00	155.00	620.00	160.00	640.00
13	P/F Lux 70mm as per req.	20	Each	Open Rate		50.00	1000.00	52.00	1040.00	55.00	1100.00
14	P/F Lux 50mm as per req.	20	Each	Open Rate		40.00	800.00	45.00	900.00	50.00	1000.00

ghi

Muly

15	P/F PVC Pipe 2" dia as per req.	350	P/Rft	Open Rate		10.00	3500.00	11.00	3850.00	12.00	4200.00
16	P/F Magnetic Contactor 250Amp (Tele mince/ Terasaki/Mitsubishi) as per req.	02	Each	Open Rate		59943.00	119886.00	59950.00	119900.00	59970.00	119940.00
17	P/F Change Over Switch 4 Pole 350Amp for manual system KE to Generator as req.	01	Each	Open Rate		28650.00	28650.00	28700.00	28700.00	28750.00	28750.00
18	P/Inst. Of Ear thing set by hand boring 50ft deep. Earth bar 10ft ¾" rod, 50mm s/c copper wire, with chemical bags etc as per site.	01	P/Job	Open Rate		30000.00	30000.00	30100.00	30100.00	30150.00	30150.00
	Total of Schedule Items			997900/-		997900/-		997900/-		997900/-	
			H			Total Amount of 1 <sup>st</sup> Bidder	996700	Total Amount of 2 <sup>nd</sup> Bidder	998261	Total Amount of <sup>3rd</sup> Bidder	999293

Shakil Mughal
Secretary Procurement Committee
Executive Engineer
DMC (South)

Muhammad Nadeem Member Procurement Committee Assistant Executive Engineer KW&SB, Karachi

A. Razzak Juneja Chairman Procurement Committee

Superintending Engineer DMC (South)

NIT No: EE/M&E/DMC/South/ 001 /2017dt: 08-11-2017

Tender published: - SPPRA Website ( www.pprasindh.gov.pk ) SPPRA Sr. No: 35163

Method of Procurement:

Single Stage - One Envelope Procedure

Work #. 18

Description of

Work:

Improvement/Up-gradation of Electric Panel System at Main Office DMC South

Name of Bidder:

M/s. New Spectrum Enterprises. (1st Lowest)

Eligibility/Qualification Criteria: - Top lowest bidders rank wise

Sr. #	Eligibility/Qualification Criteria	M/s.New Spectrum Enterprises	M/s.Huzaifa Ent.	M/s. S.S.K Ent.		
1.	Electric license for electric work	Available	Available	Available		
2.	NTN Certificate	Available	Available	Available		
3.	Pay Order of Bid Security	Available	Available	Available		
4.	Profession Tax Certificate	Available	Available	Available		
5.	Certificate Sindh Revenue Board	Available	Available			
6.	Minimum 03 Years' Experience of relevant field	Available	Available	Available		
7.	Turnover at last 03 Years	Available, above than Estimate coast	Available, above than Estimate coast	Available, above than Estimate coast		
8.	Rate must be quoted in Figure & Words	Yes	Yes	Yes		
9.	Bid is signed, named and stamped by the authorized person of the firm along with Authorization Letter	Yes	Yes	Yes		
10.	Bid must be submitted in sealed cover	Yes	Yes	Yes		
Qualifi	ied / Disqualified	Qualified	Qualified	Qualified		

Shakij Mughal Secretary Procurement Committee Executive Engineer

ecutive Enginee DMC (South) Muhammad Nadeem
Member Procurement Committee
Assistant Executive Engineer

KW&SB, Karachi

A.RazzaqueJunijo

Chairman Procurement Committee
Superintending Engineer